UGC NET 2021 Psychology

Topic:- Psychology_A
1) Which of the following nerves carry the sensory messages from skin, eyes and ears to Central Nervous System?

(1) Efferent
(2) Afferent
(3) Cranial
(4) Peripheral
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2) A Woman who learns that she has been deprived of promotion to a higher job in a company, may storm into her boss’s
office and have temper tentrum. It exemplifies :

(1) Sublimation

(2) Rationalization

(3) Reaction Formation
(4) Regression
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3) Which of the following is correct for the Pheromones?

(1) Biochemicals found within the brain which effect a person’s behaviour

(2) Biochemials which play an important role in transmitting information from neuron to neuron

(3) Chemical messengers found in the Central Nervous System

(4) Chemical substances emitted by the person into the environment affecting the behaviour of others
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4) Which of the following describes the enduring facilitation of synaptic transmission that occurs following activation of
synapses by high intensity and high frequency stimulation of pre-synaptic neurons?

(1) Action potential

(2) Absolute refractory period
(3) Relative refractory period
(4) Long term potentiation
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5) If a person’s distinctive social category makes him or her vulnerable to stereotyping, it is referred to as:-

(1) Token integration
(2) Neosexism

(3) Ingratiation

(4) Token bias
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6) Which of the following statements is wrong?

(1) Body’s requirement of sleep varies with age
(2) Tertiary prevention is action taken to identify and treat an illness or injury early with an aim of stopping or reversing the



problem
(3) Endorphins are released during exercise
(4) Excessive alcohol consumption leads to shrinking of frontal lobe of the brain.
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7) Which of the following is involved in Type ‘a’ processes of thinking as described by Wertheimer?

(1) Grouping and reorganization
(2) Assimilation and conditioning
(3) Blind trial and error

(4) Partially productive methods
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8) A person’s chronological Age is 20 years, and mental age is 16 years. What would be his 1Q?

(1) 120
(2) 100
(3) 80
(4) 110
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9) “When individuals believe that moral choices are not dependent on close ties to others and that rules must be enforced in the same

manner for everyone and each person should uphold them”.
The following statement is characteristic of which stage of Moral Development according to Kohlberg?
(1) Social contract orientation (2) Morality of Interpersonal Cooperation

(3) Social order maintaining orientation (4) Universal Ethical principle orientation
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10) Which of the following statements describe the term ‘Diffusion of Responsibility?

(1) People help others in order to reduce their emotional discomfort

(2) Greater the number of witnesses to an emergency, the less likely the victims are to receive help
(3) Helping others is a means of increasing one’s own status and reputation

(4) Prosocial acts are motivated solely by the desire to help someone in need
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11) Cattell proposed his theory of fluid and crystallized intelligences on the basis of which of the following?
(1) First order factors of abilities

(2) Second order factors of abilities

(3) Third order factors of abilities

(4) Higher order factors of abilities
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12) Behavior is a direct result of behavioral intentions, this is explained by which of the following?

(1) Theory of reasoned action

(2) Theory of social Impact

(3) Equity theory

(4) Correspondent inference theory

S[EN. SRl AfTIEl F1 yme givm 2, goehl samen faafafaa O 8 feg & 2e

(1)  fhes T =1 fagma @y = garE 51 fagm
(3) = = fagm (4) HTA FHE *1 fEgE
[Question ID = 3828][Question Description = Q12_Psychology_ SHAAN_NOV21]
1. 1

[Option ID = 14775]
2.2

[Option ID = 14776]
3.3

[Option ID = 14777]
4. 4

[Option ID = 14778]
13) As per Socrates’ Greek Philosophy, Which of the following is NOT true about eudaemonia?

(1) It means living well or flourishing

(2) It is more than merely attaining pleasure

(3) Being virtuous is almost identical to eudaemonia
(4) Being virtuous does not guarantee eudaemonia
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14) Multivariate Analysis of Variance (MANOVA) is best suited for making groupwise comparisons for several dependent
variables. Which of the following are these?

(1) Uncorrelated

(2) Moderately correlated

(3) Very highly correlated

(4) Either uncorrelated or have small negative correlations
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15) Who among the following proposed that different emotional stimuli induce different patterns of ANS activity and that
these different patterns produce different emotional experiences?

(1) James-Lange

(2) Cannon-Bard

(3) Singer-Schachter
(4) Plutchik
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16) The tendency to believe that a task will take less time than it really will, is known as:-
(1) Magical thinking
(2) Planning Fallacy
(3) Optimistic Bias

(4) Fundamental Attribution Error
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17) Which of the following are the correct differences between Parkinson’s disease and Huntington’s disease?

(A) Parkinson’s disease is a disorder of middle and old age while Huntington’s disease is a disorder of young.
(B) Parkinson’s disease is a movement disorder while Huntington’s disease is an emotional disorder.

(C) Unlike Parkinson’s disease, Huntington’s disease has a strong genetic base.

(D) Parkinson’s disease is not associated with severe dementia while Huntington’s disease is.

Choose the correct answer from the options given below:-
(1) (A) and (B) only

(2) (C) and (D) only

(3) (A), (C) and (D) only

(4) (B), (C) and (D) only
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18) Memory that is thought to contain knowledge, facts, information, ideas that can be recalled or described in words,
pictures, or symbols is called:-

(1) Procedural memory
(2) Episodic memory
(3) Semantic memory
(4) Declarative memory
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19) Young adults who return after leaving home for some period, to live in their middle aged parents home are known as:-

(1) Sandwich children
(2) Benevolent children
(3) Boomerang children
(4) Compliant children
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20) Integration of cognitive aspects of learning with the emotional aspects of experience and learning is known as:-

(1) Integrated approach to learning

(2) Confluent education

(3) Feeling class approach to education
(4) Motivational approach to learning
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21) Which one of the following is usually not considered an example of the evaluative dimension of the Osgood Semantic
Differential?

(1) Clean ------------ Dirty
(2) Slow -----==----- Fast
(3) Good ------------ Bad
(4) Kind ------------ Cruel
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22) In which schools of Indian thought about yoga, ‘Prakrti’ remains isolated as a principle of ultimate reality into self and is
active only in the presence and service of ‘Purusa’?

(1) Integral yoga philosophy
(2) Vedanta

(3) Samkhya

(4) Sahaj yoga
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23) Pattern of familial transmission of intelligence from one generation to other is investigated in which of the following?

(1) Linkage analysis studies

(2) Adoption studies

(3) Association studies

(4) Segregation analysis Studies
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24) Persons inclined to be verbally aggressive have:-

(1) low threshold for Behaviour Activation system
(2) low threshold for Flight-Fight system

(3) high threshold for Behaviour Inhibition system
(4) high threshold for Behaviour Activation system
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25) The person’s failure to respond to the second stimulus while continuing to respond to the first stimulus is because of:-

(1) Event Related Potential (ERP)

(2) Psychological Refractory Period (PRP)
(3) Priming effect

(4) Excessive mental effort
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26) Some people are able to draw an object, match similar objects and describe the component parts but they fail to
recognize the objects that they had just seen or drawn. Which of the following describes this phenomena?

(1) Associative Agnosia
(2) Apperceptive Agnosia
(3) Visual Neglect

(4) Form Agnosia
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27) Discovery and understanding of our own abilities brings happiness but also brings fear of new responsibilities and duties.
It is called:-

(1) Fear of failure
(2) Jonah complex
(3) Motives conflict
(4) Fear of success
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28) Qualities such as calmness, tolerance, sociability, love of comfort and easy goingness depict, which of the following?

(1) Viscertonia
(2) Somatotonia
(3) Cerebrotonia
(4) Ectomorphia
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29) In which phase of Enright’s model of psychological forgiveness, individual gains a cognitive understanding of the
offender in a new light that brings a positive change in view about the offender, self and the relationship?

(1) Uncovering phase
(2) Decision phase
(3) Work phase

(4) Deepening phase
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30) It is possible to accept the world as it is, without experiencing dissatisfaction. This is related to which of the following in
Buddhism?

(1) Right thought in eight-fold path

(2) Right mindfulness in eight-fold path
(3) Elimination of craving

(4) Existence of satisfaction/dissatisfaction
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31) Which one of the following is considered as a culture-fair test?

(1) Bhatia’s Battery of Intelligence

(2) Kaufman'’s Intelligence Tests

(3) Wechsler’s Adult Intelligence scale
(4) Naglieri Nonverbal Ability Test
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32) Projective measures, particularly inkblot tests, index which of the following?
(1) Novelty context of creativity
(2) Meaning context of creativity

(3) Domain specific creativity
(4) General creative potential
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33) When a target is defined by just one distinctive feature which is available on its feature map and it calls attention to
itself is known as:-

(1) Binding effect

(2) Pop-out effect

(3) Conjunction effect
(4) Orienting effect

S U FAE hl heel Uk fafire de & sfeaifia feen Sme S T sEe dfvre qummtea | anfee 2 s
TE FELM FI A a0 g 2, 39 =91 ww A6\ 87

(1)  Haga 4" (2) 9Yehdi®i (Pop-out) 94Td

(3)  HATHA uWE (HAg9H) (4) i garg

[Question ID = 3849][Question Description = Q33_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14859]
2.2

[Option ID = 14860]
3.3

[Option ID = 14861]
4. 4

[Option ID = 14862]
34) Which one of the following is a nearest parametric alternative to Kruskal-Wallis test?

(1) Independent samples t test

(2) Paired samples t test

(3) One-way ANOVA for independent groups
(4) One-way ANOVA for repeated measures

frfetfiaa & @ =1 ‘grwet aiferd i’ &1 wdfive qofufas fage 27
(1)  Tgaa gfd=== ¢ 9diem (2)  Ffwa yfd=ga t wHie
(8)  FadH wEl % for vsh-fasfia wrn (4) rEfE ad w1 vs-fesfra o

[Question ID = 3850][Question Description = Q34_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14863]
2.2

[Option ID = 14864]
3.3

[Option ID = 14865]
4. 4

[Option ID = 14866]
35) Which theory determines poverty as a psychological problem of separated classes in society?

(1) Attribution theory

(2) Depletable self-control theory
(3) Distancing theory

(4) Multiple factor theory of poverty

for fagm 4 P &1 sragwe 90T 1 gdga @1 S gHETHE Jee & &9 4 fen a2



(1)  Tomr fagE (2 g a-fee fagm
3 gl g (4) s & sEdna g

[Question ID = 3851][Question Description = Q35_Psychology SHAAN_NOV21]
1.1

[Option ID = 14867]
2.2

[Option ID = 14868]
3.3

[Option ID = 14869]
4. 4

[Option ID = 14870]
36) Visuospatial sketch pad is a component of which of the following?
(1) Long-term memory
(2) Short-term memory

(3) Working memory
(4) Sensory memory

gezeTfen feame frefafiaa 4 | feme daes 27

(1)  <rEmEfuew wid (2) weElaw Wi
3) @i wfd (4) Hadl wgfa

[Question ID = 3852][Question Description = Q36_Psychology SHAAN_NOV21]
1.1

[Option ID = 14871]
2.2

[Option ID = 14872]
3.3

[Option ID = 14873]
4. 4

[Option ID = 14874]
37) Who of the following emphasised nomothetic approach in personality research?

(1) Allport
(2) Eysenk
(3) Jung

(4) Galton

freferfiga 6 & formn saferea sgEam 4 fram=rd 2w @ ga fen 27

(1) HTeTE (2) HAEAF
3 4) e

[Question ID = 3853][Question Description = Q37_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14875]
2.2

[Option ID = 14876]
3.3

[Option ID = 14877]
4. 4

[Option ID = 14878]

38) After being robbed by a boy recently the shopkeeper says “beware of teenagers in our community”.

Which of the following explains his reactions?



(1) Algorithm

(2) Availability Heuristic

(3) Representative Heuristic
(4) Gambler’s fallacy

Uk “gh gH1 o2 A & d1G ghFGN dEdl @ HYerd & feviEl § Hiaue wEe | swehl wfafwn &
frretferfign 4 | @ 72 & 27

(1) e (@) ITeTes T Y ST
(3)  wfdfafirs aq: sy womed (4) S iz W (TrEerd Herd)

[Question ID = 3854][Question Description = Q38_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14879]
2.2

[Option ID = 14880]
3.3

[Option ID = 14881]
4. 4

[Option ID = 14882]

39) Communication of the understanding of the ‘internal frame of reference’ to client by a therapist pertains to which
type of counseling skills?

(1) Reflection

(2) Focusing

(3) Empathy

(4) Social influencer

wrgsiEd & g Haneff 1 Csafie ghee % "' # 99g 9H % HUs w1 fEE En % gt

HI9 1 eImar 2l
(1)  yfdafaaa (2)  HdRm
(3)  dedyfd (4) Wi gTaw

[Question ID = 3855][Question Description = Q39_Psychology_ SHAAN_NOV21]
1. 1

[Option ID = 14883]
2.2

[Option ID = 14884]
3.3

[Option ID = 14885]
4. 4
[Option ID = 14886]
40) Vouyerstic and exhibitionistic disorders are included in which of the following in DSM-5?
(1) Sexual dysfunctions
(2) Paraphillic disorders

(3) Other conditions that focus on clinical attention
(4) Disruptive impulse control and conduct disorders

el ygfd 3 sAreayeyH 1 DSM-5 H frefafaa § & fead snfae 27
1) dH-weef g

@  ufefers e

(3) 3 g A1 fo Jerfe e W sfa 2l 2

(4)  fageasl gan fEam aw@n smm fawn



[Question ID = 3856][Question Description = Q40_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14887]
2.2

[Option ID = 14888]
3.3

[Option ID = 14889]
4. 4

[Option ID = 14890]
41) Which of the following are true regarding Broca’s area?

(A) It is located in the frontal lobe.

(B) Its function is speech production.

(C) Understanding and processing aspects of language are associated with it.
(D) It helps people using sign language.

Choose the correct answer from the options given below:-
(1) (A) and (B) only
(2) (C) and (D) only

(3) (A), (B) and (C) only
(4) (A), (B), (C) and (D)

sl & &7 & gay § frefafiga 8§ 3 FR-50 w2
(A) ¥z oelle @s § e 2 21

@)  wHwl w5 AR 2

(C)  ¥2 uI % HaF 31 \iEAv & T 4 wEiua 2)

(D) =2 el & fe7u Heha wien &1 W #9 § HEEE 2

Hi feu mu fawedi § 9 wd 3w &1 =37 Fifaug
1) & (A) 3 (B)
2  %&d (C) 3 (D)
(3)  %ad (A), (B) 31 (C)
(4 F9E (A). (B). (C) 3 (D)
[Question ID = 3857][Question Description = Q41_Psychology_SHAAN_NOV21]

1.1

[Option ID = 14891]
2.2

[Option ID = 14892]
3.3

[Option ID = 14893]
4. 4

[Option ID = 14894]
42) Which of the following is/are correctly associated with Plato’s idea of ‘Chariot that is pulled by two horses’?

(A) Desiring soul is the charioteer.

(B) Rational soul is located in the head.

(C) Rational soul is governed by restraint and modesty.

(D) Spirited soul knows the honour.

Choose the correct answer from the options given below:-

(1) (C) only
(2) (A) and (B) only



(3) (B) and (D) only
(4) (A), (C) and (D) only

frefafea 1§ w4 el & < 9rsi gr ©iF FH Al @ % faur 8 3fed w9 | Fafaa 20
A) I FH aredl e Jeed 2

(B)  ad e gftass O fim 2)

(C) b e &1 94 3 faamen gro wenfaq fean s 2)

(D) seardl sem (ferfifee |e) =1 wfam /o =0 s 2)

Hra feu o fammedi 4 | |8 3 &1 534 Fifqu)
(1) %= (O)

@ %99 (A) 3 (B)

(3)  %ad (B) 3N (D)

(4 F9E (A). (C) #H (D)

[Question ID = 3858][Question Description = Q42_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14895]
2.2

[Option ID = 14896]
3.3

[Option ID = 14897]
4. 4

[Option ID = 14898]
43) Ethological approach to motivation mainly explains
(A) biological aspects of behaviour.
(B) evolutionary history of behaviour.
(C) causation of behaviour in terms of stimulus, hormonal and neurobiological events.
(D) proximal determinants of behaviour.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only
(2) (C) and (D) only
(3) (A),(B) and (C) only
(4) (B), (C) and (D) only

Il &q Addifadh] 39nm gera e i samen #id @ -

(A)  =IEEn &1 Afadhi yae

(B) =HEER * fawmETES 3fharE

(C) 3¢, aict Al Afas Afgehr aensii & Hay 4 s4g8n & F1Hv
(D) =HEER % dfawe fAuis

dre feu o fawedi 4 | wad 39gE I &1 934 Sifan)

(1) a9 (A) 371 (B)

(2 %9 (C) 3 (D)

(3)  %Ed (A). (B) 31 (C)



(4 &ad (B). (C) 3R (D)

[Question ID = 3859][Question Description = Q43_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14899]
2.2

[Option ID = 14900]
3.3

[Option ID = 14901]
4. 4

[Option ID = 14902]

44) Loftus and Pickrell (1995) asked people to read and think about events which had happened to them in childhood and
also instructed to write a description of one event which was actually fictitious. About one third of the participants
described the fictitious events as having really happened to them. This is called:-

(A) Eyewitness memory

(B) False memory

(C) Flash bulb memory

(D) Autobiographical memory

Choose the correct answer from the options given below:-
(1) (A) and (B) only
(2) (B) only

(3) (B) and (C) only
(4) (A) only

weeA 3R fuehtel (1995) 9 & § 399 a99q § afed gensii & & 4 Jgd 31 |- %1 Fgl, Ud 3
MgFAIA 4 U UH g F1 9uiA i mird FH & FE o 6 dosa weaHs o vs-faEE
wfaufiel 3 38 Hredfe gea % i ta @i e T8 6 39 Wy 9 awad 1 wied g2 A 3 wEd
g

A)  vrse mfq
®) ez wgfa
(€) e i

(D)  HEHHAHS Hid

Hra fou o fowedi 1 3 =@ 3w =1 9734 Hifaw)
(1) e (A) 301 (B)
(2)  Ed (B)
(3)  %ae (B) 3 (C)
(4 %Ed (A)
[Question ID = 3860][Question Description = Q44_Psychology_SHAAN_NOV21]

1.1

[Option ID = 14903]
2.2

[Option ID = 14904]
3.3

[Option ID = 14905]
4. 4

[Option ID = 14906]

45) Which of the following characteristics are applicable to emotions that are considered to occur as a result of interaction
among subjective and environmental factors and neural and hormonal processes?

(A) Emotions give rise to hedonic experiences.



(B) Emotions stimulate to generate cognitive explanations.
(C) Emotions trigger variety of internal neurobiological changes.
(D) Emotions always elicit rewarding behaviour.

Choose the most appropriate answer from the options given below:-
(1) (A) and (B) only

(2) (B) and (C) only

(3) (A), (B) and (C) only

(4) (B), (C) and (D) only

frferfiga 4 & #A @ favman sreafm 3 wfanfa wrE aa aifdn R e g &
FEREEY o9 Hall H g Al 7

(A)  H HEEE FAIWE B T <d B

(B)  Hev AT DR ] 99 HA &l IATE Fd A

(C)  Hev 3% YHN & AT, afy Afabr il 1 3aa wwft 21
(D)  HeR #HI Gl sHaER i A9IRE wedl 8

44 fou v fasedi 0 ¥ Ha9 30w IW &1 =994 Fifau)

() %ad (A) 3 (B)

(2 e (B) 3 (C)

(3) 9 (A), (B) 3 (C)

(4) % (B), (C) 3 (D)

[Question ID = 3861][Question Description = Q45_Psychology  SHAAN_NOV21]
1.1

[Option ID = 14907]
2.2

[Option ID = 14908]
3.3

[Option ID = 14909]
4. 4

[Option ID = 14910]

46) In the two group design with a continuous dependent variable, which of the following measures of effect size can be
employed?

(A) Cohen’s d

(B) Point biserial correlation

(C) Eta square

(D) Partial eta square

Choose the most appropriate answer from the options given below:-
(1) (A) only
(2) (B) and (C) only
(3) (A), B) and (C) only
(4) (A), (B) and (D) only
e anfaa witaal arel fg wge sifveea o, fraferfiaa 4 @ fra smem o &1 w1 fE 31 G 27
(A) Figd F A
B)  fog-fasfes wevay (= aediiaa)
(C) uer (Eta square)

(D)  if3rsh uzi-=1f (Partial Eta square)



Fr fou o fgeredi 4 | waifas 39w 30 9
1)  FEe (A)

2 %4 (B) 3 (C)

(3) e (A), (B) 3T (C)

(4) %9 (A). (B) 30 (D)

[Question ID = 3862][Question Description = Q46_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14911]
2.2

[Option ID = 14912]
3.3

[Option ID = 14913]
4. 4

[Option ID = 14914]
47) Which of the following are considered as projective tests of personality?

(A) Thematic Apperception Test (TAT)

(B) Rotter’s Incomplete Sentences Blank (RISB)

(C) Guttman’s Scalogram Analysis

(D) Kent-Rosenoff Free Association Test

Choose the correct answer from the options given below:-

(1) (A) and (D) only
(2) (A), (B) and (C) only

(3) (A), (B) and (D) only
(4) (A), (B), (C) and (D)

fae 1 5 &t | sfea & gaifvs wlem 27

(&) e v 2 (4. )

(B) I H AL AT TR (3R, 36, v, o)
(C)  THA TheArd st

(D)  F=-IEHE Yo A= wiam

Hr feu o fasredi 4 | w8 I %1 =95 Fifav)
(1) %4 (A) 31 (D)

(2) %49 (A), (B) 31 ()

(3) %9 (A). (B) 31 (D)

(4 %9 (A). (B), (C) 31 (D)

[Question ID = 3863][Question Description = Q47_Psychology SHAAN_NOV21]
1.1

[Option ID = 14915]
2.2

[Option ID = 14916]
3.3

[Option ID = 14917]
4. 4

[Option ID = 14918]



48) Which of the following are correctly described influences of Behaviourism?

(A) Watson'’s scientific psychology was designed to predict and control human behaviour

(B) Mary Cover Jones studied the effectiveness of counter conditioning

(C) Skinner claimed to have introduced the term ‘Behaviour therapy’ and is also credited for it
(D) Lazarus emphasised the extension of Thorndike’s Law of effect

Choose the correct answer from the options given below:-

(1) (A) and (D) only
(2) (B) and (C) only
(3) (A) and (B) only
(4) (C) and (D) only

frefafiga § 3 @R sraarar & wardi 6 w2 ©9 H S O 27

(A)  dreEHd & d3flie BHITESH 6l G g SFaar &1 S EE o UE e fe o s fou
EIRE]

(B) U wher AH A Ufaseged il waTdeRTial @1 e

(C) Eh A ‘oHaer fafhean vreg =i wlauifed feen 3 3= s 2 o fen s 2)

(D)  oEH 3§ dHEEEs & g fagE & faean w e fon

dre feu o famedi O | wél I &1 994 St
() %= (A) 31 (D)
(2) %= (B) 31 (C)
(3)  Fad (A) 3R (B)
(4) & (C) 3 (D)

[Question ID = 3864][Question Description = Q48_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14919]
2.2

[Option ID = 14920]
3.3

[Option ID = 14921]
4. 4

[Option ID = 14922]
49) Interscorer reliability is relevant in:-
(A) projective tests of personality
(B) achievement tests with short answers
(C) achievement tests with essay type questions
(D) self-report personality inventories
Choose the correct answer from the options given below:-
(1) (A) and (B) only
(2) (A) and (C) only

(3) (A), (B) and (C) only
(4) (B), (C) and (D) only

sg=rer fagadigar fa whzm O wmede & 27
(A) = & waifgs wem
(B) oY IRl drel cifed Téianm

(€) Traea yebr & wwHi gl wfen aiiem



(D)  HAeH-Ha safwe gvae

Jr fou e fawedi § 4 adt 3w &1 == Fifaw)
(1) %= (Q) 3 (B)

(2)  *Ee (A) 3 (O)

(3) e (A), (B) 31T (C)

(4  %9e (B). (C) 3 (D)

[Question ID = 3865][Question Description = Q49_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14923]
2.2

[Option ID = 14924]
3.3

[Option ID = 14925]
4. 4

[Option ID = 14926]
50) Which of the following tactics for gaining compliance are based on reciprocity?
(A) The Door-in-the - face technique
(B) “That’s - Not-All” Approach
(C) Playing hard to get
(D) Foot-in-the Door Technique
Choose the correct answer from the options given below:-
(1) (A) and (B) only
(2) (A) and (C) only

(3) (B) and (D) only
(4) (C) and (D) only

ST @Y o fore fsferfiga o i s -i gfeat aregfera @ snarfea 27
(A) FE) o wEH Bid G tj;fl %1l (The ‘door-in-the-face’ technique)
(B)  ‘gél YAH 94 8’ I9FM  (That's-Not-All approach)

(C) &% 9H & = e SR eFTHl (Playing hard to get)

(D) el YhEE 7Y Yhed 6l d%A1% (Foot in the door technique)

e fou m fasredi 6 | |98 I &1 974 Hifan)
(1)  dd (A) 311 (B)
(2)  FEA (A) 3R (O)
(3)  @de (B) 31 (D)
(4)  %ad (C) 3 (D)

[Question ID = 3866][Question Description = Q50_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14927]
2.2

[Option ID = 14928]
3.3



[Option ID = 14929]
4. 4

[Option ID = 14930]
51) Which of the following type of inversion is observed in reaction formation?

(A) Implicit

(B) Explicit

(C) Conscious

(D) Unconscious

Choose the correct answer from the options given below :-

(1) (A) and (D) only
(2) (B) and (C) only
(3) (B) and (D) only
(4) (A) and (C) only

Ffera fmio 1 fr=ferfiaa § & Sgehn &1 FF |1 9HR g@1 S 27

(A) A
B) TE™
(C)y =4
D) e

4 feu mu fawedi 4 o 9 3 %1 =239 Fifau
(1) el (A) 3 (D)
(2) %9 (B) 3 (C)
(3)  %de (B) 3 (D)

(4)  FEd (A) 3T (C)

[Question ID = 3867][Question Description = Q51_Psychology SHAAN_NOV21]
1. 1 [Option ID = 14931]
2. 2 [Option ID = 14932]
3. 3 [Option ID = 14933]
4. 4 [Option ID = 14934]

52) Attitudes can be classically conditioned even without our awareness by which of the following?

(A) Subliminal conditioning

(B) Observational learning

(C) Mere exposure

(D) Social networks

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (B) and (C) only

(3) (A) and (C) only
(4) (B) and (D) only

stfigferal &1 shenfidl siasA fan o SrrREE (3HeH H) & e 0 3 feas mean 3 21 g 27
(A) I AgEYH
(B)  FECEATES sy

(C)  wad Ml
(D) @IS G



4 feu o ferepedi 0 4 wdl I @ == Hifae:
(1) e (A) 3T (B)
(2)  *ad (B) 3 (C)
(3)  Eel (A) 3 (O)

4  FF (B) 3R (D)

[Question ID = 3868][Question Description = Q52_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14935]
2.2

[Option ID = 14936]
3.3

[Option ID = 14937]
4. 4

[Option ID = 14938]
53) Which among these is correct for Cyber bullying?

(A) It involves disinhibition

(B) Lesser role of Bystanders

(C) Ability of targets to retaliate is more

(D) No evidence left behind

Choose the correct answer from the options given below:-

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
(4) (A), (B) and (D) only

HIzeR TAIfaA-Fed % aR § FH § FeF H1h A
(A) 3o A"t Fram e 2

(B)  3HU Yaheulsh <l &9 Y Al 2

(C) 35 widquny dex & |m= sifas Ji 2

(D) 4 *iE wew 981 A= 2)

Ji= fou m foreredi 0 | wA I %1 999 fifau;
(1)  Fael (A) 3 B)

(2)  %Ed (A4), (B) 3 (O)

(3)  %=d (B). (C) 3 (D)

(49 Fdd (A), (B) 3 (D)

[Question ID = 3869][Question Description = Q53_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14939]
2.2

[Option ID = 14940]
3.3

[Option ID = 14941]
4. 4

[Option ID = 14942]



54) Which of the following in learning environment are considered to be true about school success?

(A) The self image is vital to learning

(B) Very high goal setting is necessary to motivate and study

(C) Success experience is a function of challenge more than repetition
(D) Child’s spiritual identity is vital to learning

Choose the correct answer from the options given below:-

(1) (A) and (D) only
(2) (B) and (C) only

(3) (A), (€) and (D) only
(4) (B), (C) and (D) only

el ghedl & forg frefafiaa 4 9 sfumg ofes & favg O @5 @ 3feq e smom ?
(A) g afa st & fae sifaard 2

(B) o R s & fou wfq 3= wem @ fafon savas 2)

(C)  wwadl §1 sHYfd gE | e Il *el &= & afom 2)

(D) = i sneafeys geaE st & foo sifaard 2)

Hr4 fou v faeredi 10 9 w4 I & 9739 fifa
(1) e (A) 3 (D)

(2) e (B) 3 (C)

(3) &= (A), (C) 3 (D)

(4) &= (B). (C) 30 (D)

[Question ID = 3870][Question Description = Q54_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14943]
2.2

[Option ID = 14944]
3.3

[Option ID = 14945]
4. 4

[Option ID = 14946]
55) Which of the following are the performance subtests of WAIS?
(A) Digit span
(B) Similarities
(C) Digit symbol
(D) Object assembly
Choose the correct answer from the options given below:-
(1) (A) and (C) only
(2) (C) and (D) only

(3) (B), (C) and (D) only
(4) (A), (C) and (D) only

frefafiga 4 @ *9 geg v 3 vg (WAIS) & Foareq aoadiam 27
(a) 3k faran (fefie aq)

B  mgEya (fafyafd)

(C) 31 widle (fefae faram)



(D)  a& 5y (3Tedae )

dr9 feu mu famed U 4 wdl 39 % 999 Fifau
(1)  &ad (A) 30 (C)
(2)  %dd (C) 31 (D)
(3)  Fad (B). (C) 3 (D)
(4) @ (A), (C) 3T (D)
[Question ID = 3871][Question Description = Q55_Psychology SHAAN_NOV21]

1.1

[Option ID = 14947]
2.2

[Option ID = 14948]
3.3

[Option ID = 14949]
4. 4

[Option ID = 14950]

56) Which of the following categories were given by Skinner for different verbal responses in terms of how they are
reinforced?

(A) Mand

(B) Tact

(C) Echoic Behaviour

(D) Autoclitic Behaviour

Choose the correct answer from the options given below:-
(1) (A) and (B) only

(2) (C) and (D) only

(3) (A), (B) and (C) only
(4) (A), (B), (C) and (D) only

T g &1 T gHee Uik & gegy arfaes yegad < g e g 8 e w2

(&) s

B

(C) T SHFET (3His faafear)
(D)  HARIfFAlH sgamn

Jid feu o faeredi U | |dl 3w &1 =59 hifa;
(1) %= (A) 3 (B)

(2 %99 (C) 3 (D)

(3)  F9 (A), (B) #H (C)

@ FEd (A). (B). (C) 3R (D)

[Question ID = 3872][Question Description = Q56_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14951]
2.2

[Option ID = 14952]
3.3



[Option ID = 14953]
4. 4

[Option ID = 14954]
57) Which among the following does not refer to Social Referencing?

(A) Intentional search for information about others’ feelings, to help explain the meaning of uncertain circumstances and
events

(B) It occurs around the age of 2 - 3 years

(C) Infants make use of facial expressions in social referencing

(D) Infants need to understand the significance of other’s behavior within the context of a specific situation

Choose the most appropriate answer from the options given below:-

(1) (B) only

(2) (A) and (C) only
(3) (B) and (C) only
(4) (A) and (D) only

T H Topmer Ivam wmifrs deda’ & fau T8 gmne

(a)  wffrEa ifeufa aon qensi & 52 & o[ &E 0§ 3 JEEd #d THggE ol 6l qTE
o aH Y @A e

(B)  ¥& #ran 2-3 Gl il 3W & HAE IE Bl 2

(C)  FaTrd Hrarfse dedq 4 =8t & gra-ud &1 991 Fd 2

(D)  Faard =i ol T feufa d gaail & s9aEr & waea = HugH i AEvEEal 2l 2

4= feu o famsedi © 9 9l I @ 999 Fifu:
(1) %= (B)

(2) e (A) 3 (C)

(3) %= (B) 3 ()

(49 e (A) 3 (D)

[Question ID = 3873][Question Description = Q57_Psychology_SHAAN_NOV21]
1.1

[Option ID = 14955]
2.2

[Option ID = 14956]
3.3

[Option ID = 14957]
4. 4

[Option ID = 14958]
58) Which of the following characterizes Cognitive Dissonance?

(A) Dissonance often occurs in situations involving forced compliance

(B) Attempts to resolve dissonance are reflected in increased cortical activity

(C) Dissonance cannot be reduced directly but only by adding cognitions that justify our behaviours
(D) Dissonance is stronger when we have little justification for our attitude - inconsistent behaviour
Choose the correct answer from the options given below:-

(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
(3) (B), (C) and (D) only
(4) (A), (B), (C) and (D) only

fraferfiaa O | =19 garegs sty & fasid saema 27

(A) et 34 gffeafaal 4 26 2 fad sifadd seares mfae #)



B) et Femo & vy gida e (Fifdea) nfafafy 0 wefsa 2@ 21
(C) 3wl =l #ie i &9 & fen o dehen 31fUd o2 shad @39 &1 e | &l & 9l 21
(D)  3HI(d a8 Yaiel 2ldl & o g9 9T g9 AW - 3510 S8R &1 HI3 deh 48] aldll

e feu mu fawmedi 0 O g I &1 = Fifa;
(1)  =ae (A). (B) 31 (C)

(2) = (A), (B) 31 (D)

(3) %4 (B), (C) 3 (D)

4 %4 (A). B), (O) 3 (D)

[Question ID = 3874][Question Description = Q58_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14959]
2.2

[Option ID = 14960]
3.3

[Option ID = 14961]
4. 4

[Option ID = 14962]
59) New Mood Therapy:-
(A) is a cognitive therapy
(B) is meant for treatment of depression
(C) involves many behavioural interventions
(D) was originated by Ellis
(E) is action commitment therapy
Choose the correct answer from the options given below:-
(1) (A), (B) and (E) only
(2) (A), (B) and (C) only
(3) (B) and (E) only
(4) (B), (C) and (D) only
% ‘wAEEn fatwen (=g g o)
(A)  ¥8 U HAHHS FHfheE 2
(B) 98 3aHIE o I99N & fetu adi #)
(C) 394 3% SIgRNIHS geaardi &1 fue foa mn 24
(D) =8 ufera gr wiawfea &t arg )

(E) =2 fww ufagm fafeam 2

Hra feu o faredi O | 54 3T %1 994 Hifa;
(1) %= (A), (B) 301 (B)

(2) e (A), (B) 3 ()

(3) %4 (B) 30 (B)

(4)  &&a (B). (C) 3R (D)

[Question ID = 3875][Question Description = Q59_Psychology_ SHAAN_NOV21]
1.1



[Option ID = 14963]
2.2

[Option ID = 14964]
3.3

[Option ID = 14965]
4. 4

[Option ID = 14966]

60) The components of ‘Working Memory’ are:-

(A) Acoustic unit

(B) Semantic unit

(C) Central executive

(D) Episodic buffer

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (A) and (C) only
(3) (B) and (D) only
(4) (C) and (D) only

HEwH g % fe ges &
(A)  Zav SIS
(B) g TS

(C)  Fdra wraf (Hza ufdqagfea)
(D) =eard= gfeqiiy (ufymifes %)

Hr9 feu o fawedi 4§ 9 54 I & 9299 Hife
(1) %9 (&) 3 (B)
(2) 9 (A) I (C)
(3) %4 (B) 3 (D)
(4) %= (C) 30 (D)
[Question ID = 3876][Question Description = Q60_Psychology SHAAN_NOV21]

1.1

[Option ID = 14967]
2.2

[Option ID = 14968]
3.3

[Option ID = 14969]
4. 4

[Option ID = 14970]
61) Mayer-Salovey-Caruso Emotional Intelligence Test (MSCEIT) measures:-

(A) Perceiving emotions

(B) Using emotions to facilitate thought

(C) Understanding emotions

(D) Implicit motivation

Choose the correct answer from the options given below:-

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A), (B) and (C) only
(4) (B), (C) and (D) only



U - AT - S G Glg e HETeigd 9 | T4 0 5199 6l 8 7

(A)  Hw &g (Tegafie)
B fa=r %1 g o9 o+ fon & s e
(C) |l &l HHSET

(D)  siaffaa sifigoon

4 feu mu fawedi O g 9d 3w 1 =239 Fifau
(1) el (A) 37 (B)

(2) %€ (C) 3 (D)

(3) 4 (A), (B) 3 (O)

(4)  Fad (B), (C) 3 (D)

[Question ID = 3877][Question Description = Q61_Psychology_SHAAN_NOV21]
1.1
[Option ID = 14971]
2. 2
[Option ID = 14972]
3.3

[Option ID = 14973]
4. 4

[Option ID = 14974]

62) Which of the following are features of Metacognition?

(A) Encoding

(B) Regulation

(C) Monitoring

(D) Evaluation

Choose the most appropriate answer from the options given below:-

(1) (A), (B) and (C) only
(2) (A) and (B) only
(3) (C) and (B) only
(4) (B), (C) and (D) only

sAferdsH 6 ffafiga 4 8 *iq = fafymand 22

(A)  FH
B  fafmE
(C)  FFHam
(D) AT

419 fau o fawedi # @ waifus I9gE 30 %1 959 Hif:
(1) %= (A), (B) 3 (C)

(2)  *9e (A) 3 (B)

(3 %A (C) 3 B)

Ay =T (B (Y =T (™



[Question ID = 3878][Question Description = Q62_Psychology_SHAAN_NOV21]
1.1

[Option ID = 14975]
2.2

[Option ID = 14976]
3.3

[Option ID = 14977]
4. 4

[Option ID = 14978]
63) Jensen’s Level | and Level Il abilities can be best understood in terms of which of the following?

(A) Difficulty and complexity of tasks

(B) SES Differences

(C) Racial Differences

(D) Gender Differences

Choose the most appropriate answer from the options given below:-

(1) (A) and (B) only
(2) (C) and (D) only
(3) (A), (B) and (C) only
(4) (B), (C) and (D) only

A5 &l oad 19 oidga I araans] & Fefafiaa § | 9 & ged O gdaieg quzn 5 g6d1 27
(A)  wrE i FHfaaar 9 Afeaa

(B) TUH I UH W

(C)  F&hl 31t

(D)  «ifitsh 3w

i< fau mu forehedi O 4 W 39 3T 1 T hifa0;
(1) %9 (A) 31 (B)
(2)  %dd (C) 3 (D)
(3)  @dad (A), (B) 3 (C)
4) %9 (B). (O) 3 (D)
[Question ID = 3879][Question Description = Q63_Psychology_SHAAN_NOV21]

1.1

[Option ID = 14979]
2.2

[Option ID = 14980]
3.3

[Option ID = 14981]
4. 4

[Option ID = 14982]
64) What are the characteristics of ‘Emerging persons’ in Rogerian approach?

(A) Honest and open

(B) Indifferent to material comforts and rewards

(C) Caring

(D) Having profound trust in authority

Choose the most appropriate answer from the options given below:-

(1) (A) and (B) only
(2) (C) and (D) only



(3) (A), (B) and (C) only
(4) (B), (C) and (D) only

Tt Farmm § gl safedi % aem w=n 22

(A)  SarER 3 T

(B) =M Hiaesdi A @b & uid g
(C)  d@-widl &4 aren (Hfafad)

(D)  wifaekr o i fqvars & aren

19 fou mu faeredi 0 4 wad I9eR IW H T HifAo:
(1) %4 (A) 3R (B)

(2) %= (C) 3 (D)

(3) e (A), (B) 3 (O)

(4 4 (B), (C) 3 (D)

[Question ID = 3880][Question Description = Q64_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 14983]
2.2

[Option ID = 14984]
3.3

[Option ID = 14985]
4. 4
[Option ID = 14986]
65) Which of the following are correct for the Biopsychosocial Model of health?
(A) Close interaction between body and mind, though they are separate entities
(B) Active participation of the patient
(C) Health and illness are on the same continuum
(D) Treatment process involves medication, surgery and radiation
Choose the most appropriate answer from the options given below:-
(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
(3) (B), (C) and (D) only
(4) (A), (B), (C) and (D)
e & g -ty ufers % e i fefaies 1 8 a0 4 e gd 20
(&) 3 sl 3R afeass & ne TEd s G A 2 g A g o A
B  Ift 1 gfeg geafra
(C)  Tamg 3 =iy SFl Jr-ar Iod 2
(D)  3uan ufkan 0 sitwfy fafean, sea fafesn s fafem ofea 21

H= feu o faesrei | 9 waifas ugw 39 g
(1)  *ad (A), (B) 3 (O)

(2)  *ad (A), (B) IR (D)



(3)

(4)

=dd (B), (C) 31 (D)

(A). (B), (C) 31 (D)

[Question ID = 3881][Question Description = Q65_Psychology_ SHAAN_NOV21]

1.1

[Option ID = 14987]
2.2

[Option ID = 14988]
3.3

[Option ID = 14989]
4. 4

[Option ID = 14990]

66) Match List | with List Il :

List |

Concept

(A)
(8)
©
()

Turiyavastha
Aparvidya
Paravidya

Nididhasan

List Il

Description
) Transcognitive realisation
(Il) Highest state of consciousness
() Transcendental knowledge

(IV) Empirical knowledge

Choose the correct answer from the options given below :

4]
(2)
(3)
(4)

(A)-(), (B)-(111), (C)-(11), (D)-(IV)
(A)-(11), (B)-(lM1), (C)-(1v), (D)-(I)
(A)-(11), (B)-(1), (C)-(11), (D)-(IV)
(A)-(11), (B)-(11), (C)-(1V), (D)-(I)
el Tk =g =i 11 a1 faer hifau)
-1
ke ]
(A)  qRan ==
(B)  3qwfaan
(C) wurfean
(D) Fafeumss

i 11

@  EEAEF Sy

(D) =a1 6l I= ST
(III) HarETera® F7H

av) srgufas M (3efiftga)

Hr4 fau o fasedi 4 | wdl 3R %1 =g Hifau

(1)
(2)
(3)
@

(A)-(@). (B)-(IID). (C)-(ID). (D)-AV)
(A)-(1). (B)-(I1D). (C)-(IV). (D)-(D)
(A4)-(1). (B)-(I). (C)-(I1D). (D)-IV)
(A)-(1ID. (B)-(ID. (C)-(IV). (D)-(D

[Question ID = 3882][Question Description = Q66_Psychology_ SHAAN_NOV21]

1.1

[Option ID = 14991]
2.2

[Option ID = 14992]
3.3

[Option ID = 14993]
4. 4



[Option ID = 14994]

67) Match List | with List Il :

List | List Il

Variable type Examples
(A) Artificially discrete variable ) Reaction time
(B) Continuous behavioural variable ()  Gender

(Ill) Selection test result interms of
selected, Not selected, On waiting list

(C) Continuous organismic variable
(D) Dummy variable (IV) Height
Choose the correct answer from the options given below :
(1) (A)-(m), (B)-(h, (C)-(IV), (D)-(I)
(2)  (A)-(m, (B)-(1V), (C)-(1), (D)-(I1)
(3)  (A)-(I), (B)-(1V), (C)-(1), (D)-(llT)
4 (A)-(), (B)-(), (C)-(I), (D)-(IV)

gt 1% =y gt 11 &1 fiera shifom)

HHI-1 11
=1 bl EHE
(&) HHM €T H ggEs = (@  wfafe w1
(B) o S a fem (=)
(C) wda Hffaes = (II) =rafa, smafE, e g= 4, & H@ed o
= w{iE
D) FA=H av) Far

4= feu o fasedl 4 | 9l 39 &1 994 Fifo .

(1) (A-AID, (B)-D). (C)-IV). (D)-(ID)
2y  (A)-AID. (B)-IV). (O)-@), (D)-AD
(3)  (A-0D. (B)-AV), (C)-(D. (D)-IID
@ (A-@. B)-ID, (C)-(ID). (D)-AV)

[Question ID = 3883][Question Description = Q67_Psychology  SHAAN_NOV21]
1.1

[Option ID = 14995]
2.2

[Option ID = 14996]
3.3

[Option ID = 14997]
4. 4

[Option ID = 14998]

68)
Match List | with List Il :
List | List Il
Depth Cues Explanations

) Both eyes fixate on the same

(A) Motion Parallax s
point in space



(B) Texture Gradient

(C) Interposition

(D) Convergence

() Partial occlusion of a far object
by a near object

(lll) Graded variation in the shape,
size and density of the surface
elements

(IV) Movement in one part of the
image relative to another

Choose the correct answer from the options given below :

(M
(2)
3)
(4)

(A)-(1n), (B)-(I), (C)-(1V), (D)-(1)
(A)-(1V), (B)-(1ln), (C)-(I1), (D)-(1)
(A)-(D, (B)-(1V), (C)-(1n), (D)-(I1)
(A)-(11), (B)-(1), (C)-(1), (D)-(IV)
Hel T |1 =1 11 &1 e it
gi-I
(&)  ifeferrearms

(B) T TEVTT
(C) A= (SEgraed)

(D) sAfirsT

=111
el

(M 3o &= 4 v & fag W 2T sRdl &l R
T

(I) Fdies 6l a%q g1 gy a%d &l 3
T

(IL) Hae dvdi & €9, 3TN 3R T4 4 iy
firzren

(IV) wfddfd & Us 9/ d gl 9F & HHE
HAA

49 feu v faweTl 4 8 9 39 %1 =99 Fifu .

(1)  (A-MD. (B)-ID). (C)-(IV). (D)-(D
2 (A-aV). ®B)-I1mD), (O)-an. M)-O
(3)  A-D. B)-IV). (C)-(III). (D)-IL)
@ @-aD. B)-D. (O-ID. (D)-IV)

[Question ID = 3884][Question Description = Q68_Psychology SHAAN_NOV21]

1.1

[Option ID = 14999]

2.2

[Option ID = 15000]

3.3

[Option ID = 15001]

4. 4

[Option ID = 15002]

69) Match List | with List Il :

List |
Tests

(A) Creative Achievement
Questionnaire

(B) Ideational Behaviour Scale

(C) Preference for Active
Divergence Scale

(D) Consensual Assessment
Technique

List Il

Psychologists
) Carson-Peterson-Higgins
()  Runco

() Basadur

(IV) Amabile

Choose the correct answer from the options given below :

(1

(A)-(), (B)-(ID), (C)-(11), (D)-(IV)



(2)

(A)-(I), (B)-(D), (C)-(IV), (D)-(liT)

(3)  (A)-(m), (B)-(1V), (C)-(h, (D)-(1)
(4)  (A)-(V), (B)-(1n), (C)-(I1), (D)-(1)
gl T =@ =it IT a1 faer hifau)
i1
g

(A) goHTE® I9efed TuHTEE!

(B) fer=mvneds sqaEr qoH

(C) |fsra sroemo a1 < forn afiga
(D) weafas= e ufdafy

4= feu o faeed O 8 wdl 39 &1 =999 i .

(1)
(2
(3)
(4)

(&4)-(), (B)-(II). (C)-(IID), (D)-(IV)
(A)-(11). (B)-(I). (C)-(IV), (D)-(IIL)
(A)-(I1D). (B)-(AV). (C)-(D). (D)-(D)
(A)-(IV). (B)-(IID). (C)-(AD. (D)-(T)

g 11

@O - fema-fairs
(I) *=hi

(ITT) =gt

(IV) SAHTeTEe

[Question ID = 3885][Question Description = Q69_Psychology  SHAAN_NOV21]
1.1

[Option ID = 15003]
2.2

[Option ID = 15004]
3.3

[Option ID = 15005]
4. 4

[Option ID = 15006]

70) Match List | with List Il :

List |

Indices

(A) Universal Index

(B) Disclosure Index

(C) True Response Inconsistency

(D) Coping Deficit Index

List Il

Test

U]

(m

OATB
MCMI

(1) MMPI

(IV) Rorschach Inkblot Test

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(I), (C)-(1N), (D)-(IV)
(2)  (A)-(In), (B)-(I), (C)-(IV), (D)-(1)
(3)  (A)-(m, (B)-(1V), (C)-(1), (D)-(IN)
(4)  (A)-(V), (B)-(1), (C)-(I1), (D)-(I)
g1 1% Wy g 11 %1 foar Fifso)
i1
HeIehTeh
(A) HEd™ FEHE
(B) YT T

(C) #Hea b sl

111
Briy]

@O udH
(ID) vg T
(IIT) vg ug i 3078



(D) THAETS ZFd JEHF

(IV) Traie T e gfiem

dr9 feu o fmedi O 9 wd 3wt @ =99 difau

(1)
(2)
(3)
4)

(&)-(). (B)-ID), (O)-(ID). (D)-(IV)
(A)-(D). (B)-D). (C)-IV), (D)-(IIL)
(A)-(IID). (B)-(AV). (C)-(D). (D)-(D)
(A)-(IV). (B)-(I1I). (C)-(1I). (D)-(D)

[Question ID = 3886][Question Description = Q70_Psychology_ SHAAN_NOV21]

1.1

[Option ID = 15007]

2.2

[Option ID = 15008]

3.3

[Option ID = 15009]

4. 4

[Option ID = 15010]

71) Match List | with List Il :

List |

Social Concepts

(A)

(B)

©

()]

Elaboration Likelihood Model

Realistic Conflict Theory

Glass Cliff

Schism

List Il
Explanations
) Gender stereotypes

(Il) Central and peripheral route to
persuasion

(lll) Idealogical change in core aspect
of a group

(IV) Intergroup competition as a
source of prejudice

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(lI), (C)-(IH, (D)-(1V)
(2)  (A)-(m), (B)-(IV), (C)-(), (D)-(II)
3)  (A)-(In, (B)-(1), (C)-(1V), (D)-(lII)
(4)  (A)-(In), (B)-(1V), (C)-(1), (D)-(l1I)
ol I 719 g1 11 %1 e hifa)
-1 111
o HEged: feraro | eamE
(A) faada  gwaw vl (seEiem @ 0 e w5l (awon)
ATEheAlES)
(B) arfas gg & fagma (ID) " & Hfgs v aiefig gn
(C) Ter-fa @m fedl wge & Heepl vee H Agiiw
e
(D) Tosu (faesean) (IV) qdaron % @[ & =9 § sid-agg i

4 fau o fasredi 1 & @d) I %1 =259 i

(1)
(2)
(3)

(A)-(I). (B)-(IID). (C)-(ID. (D)-IV)
(A)-@ID). (B)-(IV). (C)-(D). (D)-(II)
(A)-(ID). (B)-(I). (C)-(IV), (D)-(I1T)



4 (A-dD. B)-(IV). (C)-(D. (D)-IT)

[Question ID = 3887][Question Description = Q71_Psychology SHAAN_NOV21]
1.1

[Option ID = 15011]
2.2

[Option ID = 15012]
3.3

[Option ID = 15013]
4. 4

[Option ID = 15014]

72) Match List | with List Il :

List | List I
Type of communication in family therapy Description
(A) Congruent ()  Carries an air of self importance
(B) Placating () Placing others above oneself

(lll) Seeing the world with a lens of

C) Blami
©) aming objectivity and coolness

(IV) Reasonably flexible with a sense

(D) Super reasonable .
of connection

Choose the correct answer from the options given below :
(1) (A)-(m, (B)-(h, (C)-(I), (D)-(IV)
(2)  (A)-(n, (B)-(li), (C)-(), (D)-(IV)
(3)  (A)-(V), (B)-(IN), (C)-(1), (D)-(Ih)
(4)  (A)-(IV), (B)-(1), (C)-(IN), (D)-(IN)

el T &1 =i 11 =1 e Sifs)
I 111
uifearive Fafeemn 4 wam @1 ade Ui
(A) HUTEY (D wren-Heed i e § A
(B) UeAshfin (D i o1 A 3 S T
(C)  FTY Temgy (IIT) SN &1 FEqoddl d7 49 | ga
(D) 3= fadaryi (V) T2 29 % Wid & |9 /Y TG AT

= fev wu fa@eqi 0 9 981 3R @ 999 Fifso .

(1)  (A)-AID. (B)-(D). (CO)-(ID. (D)-IV)
(2)  A)-AD. (B)-al), (C)-(D. (D)-dV)
(3  (A-IV). (B)-D). (C)-(D, (D)-(II)
4 (A)-aV), (B)-(D. (C)-aD. (D)-IID

[Question ID = 3888][Question Description = Q72_Psychology_SHAAN_NOV21]
1.1

[Option ID = 15015]
2.2

[Option ID = 15016]
3.3

[Option ID = 15017]
4. 4

[Option ID = 15018]



73) Match List | with List Il :
List |

Concept

(A)

Situational Poverty

(B)

Generational Poverty

(©

Relative Poverty

(D) Absolute Poverty

List Il
Description

U

out

(I1) Not able to meet the average
standard of society

Not equipped with tools to move

(lll) Scarcity of necessities like
shelter, running water and food

(IV) Caused by environmental
disasters, divorce and other issues like
poor health etc

Choose the correct answer from the options given below :

(1) (A)-), (B)-(1n), (C)-(1V), (D)-(IN)
(2)  (A)-, (B)-(), (C)-(1V), (D)-(IN)
(3)  (A)-(V), (B)-(I), (C)-(IN), (D)-(lN)
(4)  (A)-(v), (B)-(I), (C)-(1), (D)-(lN)
=l I iy 9= 11 %1 e ifao)
-1
HEIA:
(A) rfefeefas e
(B) rérrd it
(C) Hrde Ty
(D) e T

Ji feu o fommedi O 9 wé I @ 99 Fifa

(1) (A-D. B)-AI). (C)-(IV). (D)-II)
(2)  A)-dD. (B)-D). (CO)-1V), (D)-(ID
(3)  @-av). (B)-(D. (C)-aD. (D)-ALD
@  (A-IV). (B)-dD. (C)-(D. (D)-II)

[Question ID = 3889][Question Description = Q73_

1.1

[Option ID = 15019]
2.2

[Option ID = 15020]
3.3

[Option ID = 15021]
4. 4

[Option ID = 15022]

74) Match List | with List Il :

gHI-I1
ST
(D) & e & WYd | sgEfead
(I) SHTA < 3HTHd HI &l T HH 4 37821
(1) sfar sl 6 wd d9 sram, 99
30 T
(IV) Jai=fig g aoie (A fadg) 3m
& I

Psychology_ SHAAN_NOV21]

List | List Il
Theoretical Perspective Explanation
) Does not endorse different

(A) Encoding Specificity Hypothesis

memory storage

(8)

Retrival induced Forgetting

)

Supress unwanted memories



(lll) Superiority of recognition over

C) Sch Th f M
©) chema Theory of Memory recall

(IV) Effect of meaning and knowledge
on memory

(D) Level of Processing Theory
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(1V), (C)-(), (D)-(lI)

(2)  (A)-(n), (B)-(), (C)-(1V), (D)-(D
(3)  (A)-(), (B)-(I1), (C)-(1n), (D)-(1V)

4 (A)-(V), (B)-(1), (C)-(I1), (D)-(lIT)

q1 T "y g 11 %1 foam Fifo)

-1 11
Agfah Hev ST
(A) HfEarn fafiea gfmern (M T wfa w2 &1 q9dA T8 w4 2
®) i A S forerm () srEifed wiE + e
(C) wufa %1 wEY (k) fHgrm (IIT) =fd ™ yeafys <l 2
(D) WeHY T F1 fagm (IV) 319 3 5[ &1 W 7 e

I feu o faeedi O 9 98 39 @ =44 Hifso

(1) (A)-aD. (B)-IV). (O)-(D), (D)-IID
2 A-aID. (B)-dD. (C)-aV). D)-(D
3 A-O. B)-D. (O)-dID. (D)-(IV)
@)  A-aV). B)-O. (O)-dD), (D)-(I1D)

[Question ID = 3890][Question Description = Q74_Psychology_SHAAN_NOV21]
1.1

[Option ID = 15023]
2.2

[Option ID = 15024]
3.3

[Option ID = 15025]
4. 4

[Option ID = 15026]

75) Match List | with List Il :

List | List Il
(A) Cognitive Assessment System () Dass
(B) Hold and Dout Hold Tests ()  Wechsler
(C) Cognitive Assessment Battery () Cattell
(D) Differential Ability Test (IV) Elliot

Choose the correct answer from the options given below :
(1 (A)-(), (B)-(I), (C)-(1), (D)-(IV)
(2)  (A)-(D, (B)-(1), (C)-(IV), (D)-(IN)
3)  (A)-(m), (B)-(1V), (C)-(1), (D)-(I)
(4)  (A)-(V), (B)-(1In), (C)-(I), (D)-(h

gl 1< w9 9=t 101 %1 fyers Hifao)

-1 HAI-1T
AV werThatrg voons T m =T



e et e S o S Pie el A e ol il e 2y o e S e

(B) @lve U4 =12 &g Iy () dven
(C) whiffea wimh= dzf (IID) *ee
(D) Ererae wfafad o (Iv) szferae

49 feu o faeedi O 4 981 39 =1 =44 i .

(1) (A-@, B)-1I), (O)-IID),. (D)-IV)
2 (A-D). B)-D. (C)-(IV), (D)-(I1I)
(3  A-ID. (B)-IV). (O)-@). (D)-ID)
@)  (A)-aV). (B)-1ID. (O)-a). (D)-@)

[Question ID = 3891][Question Description = Q75_Psychology  SHAAN_NOV21]
1.1

[Option ID = 15027]
2.2

[Option ID = 15028]
3.3

[Option ID = 15029]
4. 4

[Option ID = 15030]

76) Arrange the first five elements of ‘Flow’ in correct sequence :
(A) Clarity of Goals

(B) Immediate Feedback of Actions

(C) Balance between challenges and skills

(D) Merger of awareness and actions

(E) Exclusion of distractions from consciousness

Choose the correct answer from the options given below :
(1)A,B,C,D, E

(2)A,C,B,D, E

(3)B,C,AE,D

(4)C,B,A,D,E

YdTE & YUY 9" dedi &1 Al %Y ° e
(A) =@ o

(B)  HEl hl aepre gfagfe

(C)  FAIfaEl 3 iere o = Hde
(D)  SAFEEHA 3 FE e

(E) a1 | Tasdesi &1 s17as4

4 feu o faewed O § gdl 39 &1 =99 Fifau .

()  A.B.C.D.E
2 AC.BDE
(3 B.C.AED

(4 C.B.AD,E

[Question ID = 3892][Question Description = Q76_Psychology  SHAAN_NOV21]
1.1

[Option ID = 15031]
2.2

[Option ID = 15032]



3.3

[Option ID = 15033]
4. 4

[Option ID = 15034]

77) Arrange the following as per the Yogic Concept of Cognition.
(A) Sensorial transformation is attended by manas

(B) Reaction by budhi to the object of cognition

(C) Registration of external object on mind

(D) Assimilation and discrimination by manas

(E) Information to Ahamkara

Choose the correct answer from the options given below :

(1)C,AE,B,D
(2)C,A,D,E, B
(3)A,C,D,E, B
(4)C,A,B,D,E

(A UfsE B oEE g #iEa 2
(B) =M FI g v gfg i oufafwn)
(C) w4 W Tl 3 Hl 3|

(D) W EH HHEYE SR ggEm|

(B) &N & fawg 4 e

4 feu v faeedl § | 58 39 &1 =94 Fifau

(1) C.AE.B.D
(2) C.A,D.E.B
(3) A.C,D,EB
(4 C,AB,DE
[Question ID = 3893][Question Description = Q77_Psychology_ SHAAN_NOV21]

1.1

[Option ID = 15035]
2.2

[Option ID = 15036]
3.3

[Option ID = 15037]
4. 4

[Option ID = 15038]

78) Arrange the following correlations in ascending order in terms of their strength of relationship
(A) - 0.75

(B) - 0.30

(C) 0.40

(D) 0.68

Choose the correct answer from the options given below :

(1)B,C,D,A
(2)B,A,C, D
(3)A,B,C, D
(4)D,C,B,A

frafafiga wedayl &1 399 g9y 61 g & s9r W EE 9 1 sgafih Fifsu)

(4 -0.75



B) -0.30
(C)  0.40

(D) 0.68

Fra fou o foapedi 4 & W& I 1 == FHifsr

(), B.C.D.A
(2 B.A.C.D
(3 A BC,D

4 D,CBA

[Question ID = 3894][Question Description = Q78_Psychology  SHAAN_NOV21]
1.1

[Option ID = 15039]
2.2

[Option ID = 15040]
3.3

[Option ID = 15041]
4. 4

[Option ID = 15042]

79) The evolution of the various explanations or models of memory occur in the following sequence :
(A) Multistore

(B) Working memory

<€) Level of processing

(D) Interference

Choose the correct answer from the options given below :

1) D,A, C,B

(2) D,C,B,A

3) A, B,C,D

(4) B,C, D, A

wfd 1 fafua sarensi suen ufaaHi 1 fawm Fefafaa a8 a2 -
(A)  FETA (HEERRR)

®)  foramsfier wfa (afdn wid)

(C)  Yfskn &1 ¥ (elael 3176 urafem)

(D)  safesber (gerkaia)

fr4 feu mu fawedi 4 § g 39 #1999 Fifaw .

M DACSH
(2 D.C.B.A
(33 AB.CD

(49 B.C.D,A

[Question ID = 3895][Question Description = Q79_Psychology SHAAN_NOV21]
1.1

[Option ID = 15043]



2.2

[Option ID = 15044]
3.3

[Option ID = 15045]
4. 4

[Option ID = 15046]

80) Arrange in correct sequence, the first five intelligences given by Gardner :
(A) Linguistic Intelligence

(B) Logico-mathematical Intelligence

(C) Spatial Intelligence

(D) Kinesthetic Intelligence

(E) Natural intelligence

Choose the correct answer from the options given below :

(1)A,B,C, D, E
(2)B, A, C,E,D
(3)C,B, A, D, E
(4)D, C,E, B, A

TTEA ZR1 FATE ¢ U 9 il o wel %y O e

@& w9y
B)  @h-irda g
(C) i qfg

D) e qfg
(E) wamarfas q9fg

Ji= few o fawedi § | |é Im & 939 i

() A B.C.D.E
(2 B.A.C.ED
3) C.B.A.D.E
4 D.C.E.B.A

[Question ID = 3896][Question Description = Q80_Psychology_SHAAN_NOV21]
1.1

[Option ID = 15047]
2.2

[Option ID = 15048]
3.3

[Option ID = 15049]
4. 4

[Option ID = 15050]
81) Arrange the Nafs (Self in Sufism) from lower to higher self :

(A) The self pleasing to God

(B) The pure self

(C) Inspired self

(D) Serene self

(E) The pleased self

Choose the correct answer from the options given below :



B G T G e P T S S R T e i T T R e L ] L g e

(A) I &I I FH e =

B g =
(C)  Feufa =
(D) wImd =
(E) Hm@iied @:

4 feu v faeedi § | 58 39 1 =94 il

() E.C,ABD
& EDEAB
(3 C.E.AD.B
4 B.C.ED.A

[Question ID = 3897][Question Description = Q81_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 15051]
2.2

[Option ID = 15052]
3.3

[Option ID = 15053]
4. 4

[Option ID = 15054]

82) According to Master and Johnson, which of the following is correct sequence of Sexual Response?
(A) Excitement

(B) Desire

(C) Plateau

(D) Orgasm

(E) Resolution

Choose the correct answer from the options given below :

et 3 AHA & S8R fefafigd § 8§ €[ Fm 3966 (Sexual Response) &1 H& &4 27

-

(A)  FEel
B) T

(C) &AM (%)
(D)  HEEE
(E) 399194

414 fau o fasedi § 9 w8 I % =94 i
(1) ACD.E
(2 B.AD.E
(3 B.AC.D
4 AB.CD



[Question ID = 3898][Question Description = Q82_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 15055]
2.2

[Option ID = 15056]
3.3

[Option ID = 15057]
4. 4

[Option ID = 15058]

83) Give the correct sequence of stages in the relationship maintenance as suggested by Thibaut and Kelly (1959) in their
Social Exchange Theory :

(A) Bargaining

(B) Commitment

(C) Sampling

(D) Institutionalization

Choose the correct answer from the options given below :

forarfe 3 il (1959) M1 9 amife fafma & fagm O fou o dag wgwem O w@rl &1 98 &Y
eI

A)  HrgHriE
B)  wfedsrga
(C)  ufdegsH

(D)  HEATTHTER]

4= feu v faeedl § | vE I &1 =999 Fifu .

(1) ACBD
(2) C.A.B.D
(3) B.D.AC
(4) C.B.D.A
[Question ID = 3899][Question Description = Q83_Psychology_ SHAAN_NOV21]

1.1

[Option ID = 15059]
2.2

[Option ID = 15060]
3.3

[Option ID = 15061]
4. 4

[Option ID = 15062]
84) Give the sequence of Identity Formation in Adolescents.

(A) Consolidation

(B) Exploration

(C) Rapprochement

(D) Differentiation

Choose the correct answer from the options given below :

(1)B,D,C, A



&) Hefd
(B) 3
(€©) g
D)  fases

Fi4 fau mu faspedi 4 8 58 30 &1 =59 Fifu
(1) B.D.C. A
(2) D.B.A.C
(3) D.B.C, A
4 C.A.BD
[Question ID = 3900][Question Description = Q84_Psychology_ SHAAN_NOV21]

1.1

[Option ID = 15063]
2.2

[Option ID = 15064]
3.3

[Option ID = 15065]
4. 4

[Option ID = 15066]

85) Arrange in a sequence the Stop-start Relapse Cycle of Internet Addiction :
(A) Regret

(B) Rationalization

(C) Relapse

(D) Abstinence

Choose the correct answer from the options given below :

T2 SHHA (32HE UfSdM) o RM-E [ATEdA sk @l 5 o STHR sAaferd i)

&) @

B I
(©)  FHEd
(D) dfEr

9 feu T fgeed O A 98 39 *1 =94 il .
gy ADBE
(2 B.A.D.C

(3 D,ACB



(4 A B,DC

[Question ID = 3901][Question Description = Q85_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 15067]
2.2

[Option ID = 15068]
3.3

[Option ID = 15069]
4. 4

[Option ID = 15070]

86) Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion (A) : Chances of inheriting the dominant genes are twice in females as compared to males
Reason (R) : Females in comparison to males have two ‘X’ chromosomes

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

44 21 e fau o # : v AR (A) % w0 4 fafad 2 9@ g 36k FE (R) & E9 H

Hfupem Q) ) qe O ufzensii 8 gum (SfR) Rl & daed FoguraEn € A
H

+M (R) : el I e 0 afgensti 8 € X orgE 2 2
IiE %A < 3ATere 4, 4 fqu o fasedi 4 | Aad I9ge I w0 =g Fifa

O (A3 ®)EH EA E R R). Q) FEA Smen R0

@ (A 3 ®) EH FE E A R), (A) FwE samen @ 2
@ (A HE 2 A R) 5 A R

@ (A HA 2wl ®) | 2

[Question ID = 3902][Question Description = Q86_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 15071]
2.2

[Option ID = 15072]
3.3

[Option ID = 15073]
4. 4

[Option ID = 15074]
87) Given below are two statements :

Statement (1) : Edwards Personality Preference Schedule (EPPS) uses forced choice format.

Statement (ll) : The forced choice format is presumed to prevent socially desirable responding

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement (1) and Statement (ll) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct

fr g1 oA fog e 2 vsh sifasua (A) & w9 1 fafad 2 91 g 35 S Ry 6 w90

sthTEeTT (T - Teas oAt A Ty TEeTA (2 W o vh O e =S UTET 39 I S AT 2



Afirpem (ID) - WS T WREY &1 AR U HTiHe aifdd Uet deH o o g 2
3P Y ATl °, Hr fqu e fasedi O | wa8 39w 3T &1 954 Sifa

(1) sl D) 3R A1 ZF w0 2

@ R (D) 3R @D ZFT HA 2

(3) sy (1) @ B, @feha sfashem (1) @ 4 2
(@ s (@)@ 6 2, dfed sifasem QD w8 2

[Question ID = 3903][Question Description = Q87_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 15075]
2.2

[Option ID = 15076]
3.3

[Option ID = 15077]
4. 4

[Option ID = 15078]

88) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A) : In fixed interval schedule of reinforcement behaviour is reinforced in a fixed time period.
Reason (R) : When students get feedback intermittently their level of performance increases

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is Not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

491 @1 e fau o & vek wfyeya (A) & w9 § fafigd 2 1 gan 38 wR R) & =9 8

Al (A) : qHeieH 1 Ryl sdaae g § sgaan W faifa agamEfy O goeem e s 2

Frv (R) : A" BT Hl HIE-G9Y W A=A (Bredes) UH @l @ d 3 s -fmaregn & wn
g Al 2|

IR b el o, Hr9 fou e faswedl 4 @ gel Swge I 1 = il

(D) (A) 3R R) <HI FE A AR (R). (A) FI HE =wE 2

@ (A 3 @) I T E dfEE R), Q) F T s 6 2
(3 (A Ed 2 e ®) @€ A 2

@ (A Fd I 2 @l R) w9 2

[Question ID = 3904][Question Description = Q88_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 15079]
2.2

[Option ID = 15080]
3.3

[Option ID = 15081]
4. 4

[Option ID = 15082]



89) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A) : Cattell incorporated factors Q1, Q2, Q3 and Q4 in 16 PF
Reason (R) : Some factors appeared only in L-data not in Q and T-data

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is Not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 21 oA feu o 2 ;s sifisya (A) % w9 0 fofiad 2 91 gan 39 S (R) % w9

@[ (A):  hed I Qu Qo Qs 3 Qq TeH i 16 PF 1 wnifre fapan

FR (R) : %8 "o hadl L -9:6d § 93 7 4, Q du T-9:ewi ° i
IHIF F2A < A H, 414 fqu 7 faswad § 3 w@ad 30w I H G594 Fia)

(D) (A 3 R) SH w2 3 (R), (A) I 6é sare 2)

2 (A 3R S FE B AR R). (A) Fw s @ 2
B (A Ed 2 e ®) @€ A 2)

@ (A & A 2wl R) | 2

[Question ID = 3905][Question Description = Q89_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 15083]
2.2

[Option ID = 15084]
3.3

[Option ID = 15085]
4. 4

[Option ID = 15086]
90) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A) : Lewin asserted that avoidance - avoidance conflicts are relatively more stable
Reason (R) : Opposing forces tend to remain in a state of disequilibrium.
In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is Not the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct

= @1 e fou o # sk sifaseR (A) % w9 4 fafad 2 d1 gan 39E s (R) & €9 H
sifirReA (A) eifa 3 Ferqdes Fa fh WER-IHaERgg qoTds ¥ § a7fus fon #)
&I (R) : farafa = AEdeA & AGEI Fl G TEH FE@d 6

IYE HYA 6 AT °, F4 fqu o fawedi 4 9 g9 30 I w1 G54 HIf)

) (&) 3R ®R) ZH FE F SR (R). (A) F ) swe 2

2) (A) 3 (R) M1 921 2 @ifa (R), (A) il w&l sgrzm 74 21
(3 (A A 2 @i R) w48 21
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[Question ID = 3906][Question Description = Q90_Psychology_SHAAN_NOV21]
1.1

[Option ID = 15087]
2.2

[Option ID = 15088]
3.3

[Option ID = 15089]
4. 4

[Option ID = 15090]
Topic:- Psychology_B

1) Read the following paragraph and answer the five questions that follow :

A psvchologist was inferested in developing English Language Usage test for HSSC
students. She wrote 120 questions trving to cover several areas of the language usage. Each
question had five alternatives, out of which only one was right. The draft version of the test
was given to a sample of 200 students. The test items were analyzed In two ways — carrying
out item-remainder correlation and discrimination index for each item. For the purpose of
computing item discrimination index, she labelled those who had a total score below Par as
low scorers, and those who had a total score above P73 as high scorers. (Assume that P27 and
Pz had non-fractional, 1e. full integer wvalues). The statistical significance of the
discrimination index of each item was evaluated by appropriate test. Ninety items were
retained in item analysis. The Ninety-item version was administered to a fresh sample of
400 subjects. Cronbach alpha was computed. The psychologist aleo wondered if she could
compute Kuder-Richardson (K-R) veliability for her test. Since the Cronbach alpha was
pretty high. i.e. 947, and the test was quite long. she decided to develop the two parallel
forms, each of 45 items. She randomly assigned the items to two halves. labelling them as
Form A and Form B. For each Form. she assessed average Inter-item correlation. mean,
standard deviation and Cronbach alpha. The two forms satisfied the criteria for parallel
forms.

e s #0 w8 vd s e w3 €

weh etases we, wa, we, i, et & e s wmn wea ofleon s a2 S e wEm
i fafie & O geafm 120 wod 59101 weles wod & w9 3o frsew fou frni & v odl o) e &
orEq FERm & 200 frenfidai o vk ufiest o fen ) ohem & wd w1 @ wwn 9 favém fen
U

To-arhl Yo WiEEE ad g e fadem geeinl we-faidem gawie aw w5 & oo s
11,27 | = A ® 9 sEeE a9, 73 | S0 A & 3= s faed (A, 27 9 9. 73
% geu qff wen 4 )| Faide gas ) wifed wdwm @ Ryl B o) s g fave |
90 H2 7 M) T ga w weEm F 92 400 Ffrd % gfvesd @ wonfaa fen mn SeEs wew w5
Frafon famn oo 39 22 ot b B e % am. favanda £ w6 osw w9k weEs
UFH] T 3= 947 @ a1 wiiam STh e 8 A 309 ulfiaw  F auET gTE daw s R v
forn, formmd weirss 4 45 we &M wEw A 3 B # amfem w9 @ 45.45 e 1@ wSE wE & fem T
SR e HEER, T, U HEer ad] B TSR S 0 S TR 2 O S
9 % HAFRYA gHeve we T

Item | was passed by 30 subjects in Low scoring group and by 56 subjects in High scoring group. What would be the
discrimination index for item I?

(1) 0.241 (2) 0.481
(3) 0.556 (4) 0.796

=1 Torek ¥z 1 30 fawfaai 3 wym O wm fea ax = B 0 56 faafaai 4 um e 39 snaw
Woge 4, I a1 faudiarm gaehien # aFm 7

(1)  0.241 (2) 0.481
(3) 0.556 (4) 0.796

[Question ID = 3907][Question Description = Q91_Psychology_SHAAN_NOV21]
1.1

[Option ID = 15091]



2.2

[Option ID = 15092]
3.3

[Option ID = 15093]
4. 4

[Option ID = 15094]

2) Read the following paragraph and answer the five questions that follow :

A pswychologist was interested in developing English Languagze Usage test for HSSC
students. She wrote 120 questions tryving to cover several areas of the language usage. Each
question had five alternatives, out of which only one was right. The draft version of the test
was given to a sample of 200 students. The test items were analvzed in two ways — carrying
out item-remainder correlation and discrimination index for each item. For the purpose of
computing item discrimination index, she labelled those who had a total score below Par as
low scorers, and those who had a total score above Pi: as high scorers. (Assume that P27 and
Pi: had non-fractional. 1.e. full integer wvalues). The statistical significance of the
discrimination index of each item was evaluated by appropriate test. Ninety items were
retained in item analysis. The Ninety-item version was administered to a fresh sample of
400 subjects. Cronbach alpha was computed. The psychologist also wondered if she could
compute Kuder Richardson (K-R) reliability for her test. Since the Cronbach alpha was
pretty high. i.e. 947, and the test was quite long. she decided to develop the two parallel
forms, each of 45 items. She randomly assigned the items to two halves. labelling them as
Form A and Form B. For each Form. she assessed average inter-item correlation. mean.
standard deviation and Cronbach alpha. The two forms satisfied the erterla for parallel
forms.

(B e R R CRE = e i e |

weh e v, wE, v, o, feenfihl @ fe sish v wdm often sen | 21 3 am wm
i fafirm o 4 geafira 120 woq =410 veles uv & o9 3 Frees feu fad 8 o ol =m offsm &
urey g &1 200 FrnfEl & v ufredd o famn ) ofiem % wél & € w4 faver fem )
U

E-AFhl Ue HEFE- Ay gAT ug faudem geeE| m-faude gaEe W wH F fam 3
41,27 & = A s au d. 73 | S A &) 3= s feefl (AL 27 awn @, 73
% geu il wen H #)) faide g ) wiferd wden o faton B o) s g faveno |
90 wg g Ul fE 2H q4 dEE w1 99 400 faufiEl & gfied @ wenfaa fEn ) @ e @
Fufoo fern g a6 g oft drn B oofie 1 %L ame fvasdaa 6 @ wie A oo wifs SRds
el Il 39 947 w0 awn wdfiam srdi e 2 9 359 wfia % JuEEa WeY dar e @ ok
form, forml wers 9 45 We &M WEd A 3T B Wgfen 59 8 45-45 6e T UerE WEY o foru 3
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Which one of the following test can be used for evaluating statistical significance of the discrimination index?
(1) Chi-square test (2) ttest
3) F test (4) Mann-Whitney U test

farsdierm =T 6 Hifeafeu e a9 & fau e glemn 4 3 e v e s awa 27
(1) . g fiem @ 4. aham
(3)  um. wliz (4) "M =iz g wliam

[Question ID = 3908][Question Description = Q92_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 15095]
2.2

[Option ID = 15096]
3.3

[Option ID = 15097]
4. 4

[Option ID = 15098]

3) Read the following paragraph and answer the five questions that follow :

A psvchologist was inferested in developing English Language Usage test for HSSC



students. She wrote 120 questions trying to cover several areas of the language usage. Each
question had five alternatives, out of which only one was right. The draft version of the test
was given to a sample of 200 students. The test items were analvzed in two ways — carrying
out item-remainder correlation and discrimination index for each item. For the purpose of
computing item discrimination index, she labelled those who had a total score below Par as
low scorers, and those who had a total score above Pi: as high scorers. (Assume that P2r and
P:: had non-fractional. 1.e. full integer wvalues). The statistical significance of the
diserimination index of each item was evaluated by appropriate test. Ninety items were
retained in item analysis. The Ninety-item version was administered to a fresh sample of
400 subjects. Cronbach alpha was computed. The psychologist also wondered if she could
compute Kuder Richardson (K-R) reliability for her test. Since the Cronbach alpha was
pretty high. i.e. 947, and the test was quite long. she decided to develop the two parallel
forms, each of 45 items. She randomly assigned the items to two halves. labelling them as
Form A and Form B. For each Form. she assessed average inter-item correlation. mean.
standard deviation and Cronbach alpha. The two forms satisfied the erterla for parallel
forms.

= TR ®i v vd e o el e gl

weh WA v, wE, v, o, feenfihl @ fe sish v i often sen | 21 36 um wEm
i fafira &6 § weaffm 120 uga a=4r) el uv & o 3 faee fou el 4 v ol wm ofism &
ey deRm &1 200 el & v ufrest o fem wn ofiem & wdl @ wen 4 faver fEn o
U

E-AFh Ue HEFE- Ay oA ug faudem geeiE| w-faud gese W wE F e 3
41,27 & = A e s qw d. 73 | S A w3 s faeefl (A, 27 3 @, 73
% geu g wem H A1) faide gawi ) wiferd mden o faton B o) s g fasen |
90 we T MU T 2E qH drE w1 99 400 frefii & gfied @ wenfaa fEm o EeEs wem @
Fufoo fern g 3o g oft wren B owfie 1 %L e fvasltaa 6 @ wie A oo wifs SR
el Il 3 947 0 aw wfiam sdi e 2 9 359w S 2 JuEEa Wiey dar i @ ok
foran, fomdd weires 9§ 45 we &M wisw A i B # anfsa 59 8 45-45 He v wois wEy & foro e
Frgd e HEHE, e, 96F fHEen 9 weas ven i e o) 9 wrEdt 3 s

What is the expected Cronbach alpha for the Form A?

(1)
3)

.474 (2) .899
.913 (4)  .947

YUY A @] HEATTIE hiFee U #4127

(I 474 (2 .899
3 913 4 .947

[Question ID = 3909][Question Description = Q93_Psychology_SHAAN_NOV21]

1.1

[Option ID = 15099]

2.2

[Option ID = 15100]

3.3

[Option ID = 15101]

4. 4

[Option ID = 15102]

4)

Read the following paragraph and answer the five questions that follow :

A psvchologist was interested in developing English Language Usage test for HSSC
students. She wrote 120 questions trving to cover several areas of the language usage. Each
question had five alternatives, out of which only one was right. The draft version of the test
was given to a sample of 200 students. The test items were analyzed In two ways — carrying
out item-remainder correlation and discrimination index for each item. For the purpose of
computing item discrimination index. she labelled those who had a total score below P27 as
low scorers, and those who had a total score above Prs as high scorers. (Assume that P27 and
Pi: had non-fractional, i.e. full integer wvalues). The statistical significance of the
diserimination index of each item was evaluated by appropriate test. Ninety items were
retained in item analysis. The Ninety-item version was administered to a fresh sample of
400 subjects. Cronbach alpha was computed. The psychologist also wondered if she could
compute Kuder-Richardson (K-R) reliability for her test. Since the Cronbach alpha was
pretty high. 1.e. 947, and the test was quite long. she decided to develop the two parallel



Torms. each ol 49 1ems. She ranaomiy asslgned the ltems Lo IWo hDalves. labelling them as
Form A and Form B. For each Form. she assessed average Inter-item correlation. mean,
standard deviation and Cronbach alpha. The two forms satisfied the criteria for parallel
forms.

fae s #1 wg vd s e w1 o €
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U
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d1.27 # F= Al ® 8 dEeE a9, 73 |3 F0 A % 3= s e (AL 27 9 9. 73
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Give below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R) :

Assertion (A) : It is not possible to compute K-R reliability for the above test, since each item has five
alternatives

Reason (R) : K-R reliability can be computed, when the items can be dichotomously scored
In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is Not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct
4 g1 weF fou o ;s sifeeR (A) & w9 § ferfiad 2 T g IHE FE R) F €9 1

sfirReA (A) IPE e 4 k. 3R, favandigar &1 ofeen woya 96 #=0ifE R ue & i
e 21

F (R) : % 3. favaa-ia Faa 9a € qfiesfega 6 @ whdl 2 99 9di #1 3iA g1 3 G
ferem e 21

Y HYA < el H, I fqu o fameri 4 | A9 3996 I F1 959 Hif

() (&) IR R)EE = 2 3R (R). (A) F 6l swem 2

2 (&) 3R ®) M FE 2 Al ®). (A) B gE swen 34 2)
(3) (A HE 2 e R) w6 2
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[Question ID = 3910][Question Description = Q94_Psychology_SHAAN_NOV21]
1.1

[Option ID = 15103]
2.2

[Option ID = 15104]
3.3

[Option ID = 15105]
4. 4

[Option ID = 15106]

E) Read the following paragraph and answer the five questions that follow :

A psvchologist was interested in developing English Language Usage test for HSSC
students. She wrote 120 questions trving to cover several areas of the language usage. Each
question had five alternatives, out of which only one was right. The draft version of the test
was given to a sample of 200 students. The test items were analyzed In two ways — carrying



out 1Iem-remalnael correlatlon and Qlscrliminavion INaex Lo each 1emm. Ior e purposc ol
computing item discrimination index, she labelled those who had a total score below Por as
low scorers, and those who had a total score above Pi: as high scorers. (Assume that P27 and
P:: had non-fractional. 1.e. full integer wvalues). The statistical significance of the
discrimination index of each item was evaluated by appropriate test. Ninety items were
retained in item analysis. The Ninety-item version was administered to a fresh sample of
400 subjects. Cronbach alpha was computed. The psychologist also wondered if she could
compute Kuder-Richardson (K-R) reliability for her test. Since the Cronbach alpha was
pretty high. i.e. .947. and the test was guite long. she decided to develop the two parallel
forms, each of 45 1tems. She randomly assigned the items to two halves. labelling them as
Form A and Form B. For each Form. she assessed average Inter-item correlation. mean.
standard deviation and Cronbach alpha. The two forms satisfied the criterla for parallel
forms.

a1 e 51 wE vd fm are weHl @ s d)
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TR AR e 9y T

For computing inter-item correlations, which one of the following is suitable?
(1) Point biserial correlation (2) Biserial correlation

3) Rank difference correlation (4) Phi-coefficient

Frelwg e - i o % e Fre § | e w3 2 e

(1) s aE-Hife me-gray (2) =e-wifrae gg-mray
(3) B HA HEEE (4) BT -HEH=E U

[Question ID = 3911][Question Description = Q95_Psychology_ SHAAN_NOV21]
1.1

[Option ID = 15107]
2.2

[Option ID = 15108]
3.3

[Option ID = 15109]
4. 4

[Option ID = 15110]

Topic:- Psychology_C

1)
Read the following paragraph and answer the five questions that follow :

An experimental psychologist wanted to test two hypotheses. The first hypothesis proposed
that stress would adversely affect the rate of serial learning. The second hypothesis proposed
that the type of material (meaningless vs. meaningful) would moderate the effect of stress.
The psychologist formed six groups by manipulating stress (A) at three levels — Low,
Moderate and High and Type of material (B) at two levels. The subjects were randomly
assigned to these groups from an initial pool of subjects. The list of 15 CVC trigrams
constituted meaningless material and the list of 15 three-lettered meaningful words
constituted meaningful material. The number of trials required to learn the list was the
dependent variable. The data were analysed by suitable analysis of wvariance.
Following are the selected findings.

1. The ratio of largest to smallest standard deviations for the six groups was reasonably
close to one

B L i e N N . e T L g L r g K 1.
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3. The F ratio for the effect of stress was 0.95.

4. The effect sizes for each effect were calculated both by obtaining efa square and partial
eta square.
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The above design can best be labelled as :

(1) Randomized 3 x 2 balanced factorial design

(2) Randomized 3 x 2 balanced factorial design with a covariate
(3) Randomized 3 x 2 unbalanced factorial design

(4) Randomized block design

3y wfimeq il gatan sqven fFrafafiaa § 4 fea w9 8 &) o aad 27

(1)

(2)

(3)
4

agfess 3 X 2 dqfda wie Afiywey
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[Question ID = 3912][Question Description = Q96_Psychology_ SHAAN_NOV21]

1.1

[Option ID = 15111]

2.2

[Option ID = 15112]

3.3

[Option ID = 15113]

4. 4

[Option ID = 15114]

2)

Read the following paragraph and answer the five questions that follow :

An experimental psychologist wanted to test two hypotheses. The first hypothesis proposed
that stress would adversely affect the rate of serial learning. The second hypothesis proposed
that the type of material (meaningless vs. meaningful) would moderate the effect of stress.
The psychologist formed six groups by manipulating stress (A) at three levels — Low.
Moderate and High and Type of material (B) at two levels. The subjects were randomly
assigned to these groups from an initial pool of subjects. The list of 156 CVC trigrams
constituted meaningless material and the list of 15 three-lettered meaningful words
constituted meaningful material. The number of trials required to learn the list was the
dependent variable. The data were analysed by suitable analysis of variance.
Following are the selected findings.

1. The ratio of largest to smallest standard deviations for the six groups was reasonably
close to one

2. The degrees of freedom for error variance was 135

O T o T oard e P i bhe Pk ol o e erem = Y DY
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4. The effect sizes for each effect were calculated both by obtaining eta square and partial
ela square.
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The above data indicates :

(1) that the assumption of homogeneity of variance is satisfied

(2) that the assumption of homogeneity of variance is not satisfied

(3) the absence of information related to the assumption of homogeneity of variance
(4) the formal test of homogeneity of variance needs to be carried out

ITH UM (WS:d) | U Todl A

(1)
(2)
(3)
(4)
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[Question ID = 3913][Question Description = Q97_Psychology_ SHAAN_NOV21]

1.

1

2.2

3.3

4. 4

3)

[Option ID = 15115]

[Option ID = 15116]

[Option ID = 15117]

[Option ID = 15118]

Read the following paragraph and answer the five questions that follow :

An experimental psychologist wanted to test two hypotheses. The first hypothesis proposed
that stress would adversely affect the rate of serial learning. The second hypothesis proposed
that the type of material (meaningless vs. meaningful) would moderate the effect of stress.
The psychologist formed six groups by manipulating stress (A) at three levels — Low,
Moderate and High and Type of material (B) at two levels. The subjects were randomly
assigned to these groups from an imitial pool of subjects. The hist of 156 CVC trigrams
constituted meaningless material and the list of 15 three-lettered meaningful words
constituted meaningful material. The number of trials required to learn the list was the
dependent variable. The data were analysed by suitable analysis of wariance.
Following are the selected findings.

1. The ratio of largest to smallest standard deviations for the six groups was reasonably
close to one

2. The degrees of freedom for error variance was 135
3. The F ratio for the effect of stress was 0.95.

4. The effect sizes for each effect were calculated both by obtaining efe square and partial

IR
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The above results indicate that :

(1) the first hypothesis is verified

(2) the first hypothesis is rejected

(3) the first hypothesis is partially verified

(4) the inadequate information for evaluating the first hypothesis

39 il H a1 Feral 2 o

(1)  veefl giemedTn geafid 2

(2)  vEell YR srEfigd 2

(3)  waell uitsheyn 30T ®9 | Hearfud 2
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[Question ID = 3914][Question Description = Q98_Psychology_SHAAN_NOV21]

1.1

[Option ID = 15119]

2.2

[Option ID = 15120]

3.3

[Option ID = 15121]

4. 4

[Option ID = 15122]

4)

Read the following paragraph and answer the five questions that follow :

An experimental psychologist wanted to test two hypotheses. The first hypothesis proposed
that stress would adversely affect the rate of serial learning. The second hypothesis proposed
that the type of materal (meamingless vs. meaningful) would moderate the effect of stress.
The psychologist formed six groups by manipulating stress (A) at three levels — Low.
Moderate and High and Type of material (B) at two levels. The subjects were randomly
assigned to these groups from an initial pool of subjects. The list of 15 CVC trigrams
constituted meaningless material and the list of 15 three-lettered meaningful words
constituted meaningful material. The number of trials required to learn the list was the
dependent wvariable. The data were analysed by suitable analysis of wvariance.
Following are the selected findings.

1. The ratio of largest to smallest standard deviations for the six groups was reasonably
close to one

2. The degrees of freedom for errvor variance was 135
3. The F ratio for the effect of stress was 0.95.

4. The effect sizes for each effect were calculated both by obtaining efa square and partial
eta square.

frfefaa fumms &l afze it $= feo o o= i % e A

= e et = ey s erRerm CETr e of | wereR ohereyrn o v sh B s ey =



IR ORRY R AR R R TR LR AR IR N PR R RN N RN IR TR CERERRT Ry R RCAR R TR AR TR TR Al T AR

wivs sfam aw ﬂ‘ﬁﬂfﬁ EEER ] egm afenn i sEafaE o i En % S (Fredder &
wiedeR) A TarE &1 wdTE HAfga @) 38 ol 3 gaE (A) 1 AE wE o (3E, ge i s 3=)
aﬁtnwﬁlaﬁlmm)wamwmmm? Tz A s fawfl O 4 sy e @
i 9 # = w4 wogfee frn w16 didel g & g O faeis aneh o s 15 favffa
HieE wegl 1 gl O s Al e o g F sfwem F fow antiye faamm 6 den (ve)
mﬁaqﬁaﬂaﬂ|mﬂmaaﬂhmmmzﬁzﬂmﬁrﬁwﬁmﬁﬁmW|wﬁﬁﬁmﬁmﬁvﬁ@a?

1. =2 |5ydl & fom gem @ oo g faaem 1 s v % afaa dndfra § en)
2. HAfe wem % fom wadaen i dm 135 o

3. @ad & w9E & feu F @ 0.95 91

4. yerE 99E + e g sreRR o aiser ger e aie snfies ger e 21 wie ok fe T

Which one of the following F ratio would be used to evaluate second hypothesis?

(1) F = MSA/MSg
(2) F = MSg/MSg

(3) F = MSa x s/MSE

(4) F = MSa /(MSa x 5 + MSg)

gl aftshedl & Youidd & foru fafefiga 4 & fem Famura &1 wim foan smom 2

(1) F = MSa/MSe (2) F=MSs/MSEe
(3) F=MSa-s/MSe (4) F=MSa/(MSaxs+ MSE)

[Question ID = 3915][Question Description = Q99_Psychology_SHAAN_NOV21]
1.1

[Option ID = 15123]
2.2

[Option ID = 15124]
3.3

[Option ID = 15125]
4. 4

[Option ID = 15126]

5)

Read the following paragraph and answer the five questions that follow :

An experimental psychologist wanted to test two hypotheses. The first hypothesis proposed
that stress would adversely affect the rate of serial learning. The second hypothesis proposed
that the type of material (meamingless vs. meaningful) would moderate the effect of stress.
The psychologist formed six groups by manipulating stress (A) at three levels — Low,
Moderate and High and Type of material (B) at two levels. The subjects were randomly
assigned to these groups from an initial pool of subjects. The list of 15 CVC trigrams
constituted meaningless material and the list of 15 three-lettered meaningful words
constituted meaningful material. The number of trials required to learn the list was the
dependent wvariable. The data were analysed by suitable analysis of wvariance.
Following are the selected findings.

1. The ratio of largest to smallest standard deviations for the six groups was reasonably
close to one

2. The degrees of freedom for error variance was 135
3. The F ratio for the effect of stress was 0.95.

4. The effect sizes for each effect were calculated both by obtaining eta square and partial
eta square.

Fretferfiga Tomrs w61 ufzo si Hi= foo o o= wodi & 3 difau

weh yrifien urdstre g1 aftsrermsi @ oftem e SEd 91 veef) o O yenfaa o feogare
s i 1 g o wfawa vare g2mi gafl ufwern d werfad w fe anefl @ wen (Fedes @ m
iedeR) A gETE %1 99 A 20 39 ot 3 gaE (A) 1 AE T (3E, ge s s 3=)
Wﬂm@mm)war&nmmmm‘ﬁ T aqrE | s el O @ sty safwal w6
Aafeas ¥9 # = Age ¥ wogfe fHm ) 15 deE g @ g 9 Feds i o s 16 e
e vregl 1 HA 0 wdE anefi wire o g F sfem F fow st faamm 6 den (ve)
mqﬁaﬂaﬁ|mmamhmmmwm3ﬂmﬁaﬁwamﬁ:mW|wﬁﬂﬁmﬁwﬁﬁ@Hi



1. =2 H5ydl & fou gem @ agen o faaem 1 37 s % afaa wndfra 4 en)
2. Ffe v % feru xadam i 135 o)
3. TEE % waE F fow FaEE 0.95 @

4. U 99 % fau g snen w1 oo ger s anifirs gyt @ Wi =k T )

The above findings indicate that the post-hoc comparisons are :

(1) Necessary for the effect of stress

(2) Necessary for the effect of type of material

(3) Necessary both for the effect of stress and type of material

(4) Neither necessary for the effect of stress nor the type of material
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[Question ID = 3916][Question Description = Q100_Psychology_SHAAN_NOV21]
1. 1

[Option ID = 15127]
2.2

[Option ID = 15128]
3.3

[Option ID = 15129]
4. 4

[Option ID = 15130]
Topic:- GP_Set3_A

1)
The table below embodies data on the number of candidates who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L. M and N during the vear 2014 to 2019. In
accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
City —» K L M N
o A|lP|A|P|A|P| A |P

s

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

fr= & 7 @i 8§ 99 2014 o 2019 F A 9R wed K. L. M 3R N # fafas g=n wfen 4 wfs=
eHEE wefiE (A) #Hi aden § sE srsfiE (P) i d@em % wrws B e 3| @fe % sEEn T

iy ozt o sreafe=t it 399w g

| K L M N
e A|lP|lA|P|A|P| AP

sTas V] P A PR, e | i ot PRI A Cra =g =iy it oma g bl



e fed | QDU DL | 21U ) JAU | 21U | AUAU | OUA
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 208 [ 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 [ 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | T12 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

What is the difference hetween the total candidates who appeared and total candidates who
paszed from City K in all the six years together?

(1) 2060 (2) 2070
(3) 2080 (4) 2090

Tl @ a9 % S0E wE K @ giian § ufie seae e i ge me S g5 8 3 i aha

(1) 2060 (2) 2070
(3) 2080 @) 2090

[Question ID = 4117][Question Description = Q01_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15931]
2. 2 [Option ID = 15932]
3. 3 [Option ID = 15933]
4. 4 [Option ID = 15934]

2)
The table below embodies data on the number of candidates who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L, M and N during the vear 2014 to 2019. In

accordance with the table. answer the question

Year-wise Number of Candidates from Different Cities
ity -3 K Is M N
e A|lP|A|P | A|PB| A& |P

\

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

= 2 e wferE | =9 2014 | 2019 % ERW AR wed K, Lo M #R N @ fafas g wfan | wmfas
aeETe el (A) @R wier | sl sr=fEEl ((P) o e % s fw w #) arfersn % AR T

fafa o=t @ sreafia i adaw gen
e —> K L M N

= A F A P A P A P
\)

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 208 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
N1 g TR o oS | i e | e | O 3 e | RETST




it L | i | UV ) ol P14 [ s | L4 LR i}

2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

What iz the average number of candidates passed from all the four cities in the year 20157
(1) 528 (2) 529
(3) 530 (4) B31

a9 2015 % ERA O =W =0 9 0 2EETE SR i stoa a2 7

(1) 528 (2) bH29

(3 530 (4) 531

[Question ID = 4118][Question Description = Q02_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15935]
2. 2 [Option ID = 15936]

3. 3 [Option ID = 15937]
4. 4 [Option ID = 15938]

3)
The table below embodies data on the number of candidates who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L. M and N during the vear 2014 to 2019. In

accordance with the table, answer the question

Year-wise Number of Candidates from Different Cities
G K Is M N

o A|lP|A|P|A|P| A |P
\)

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

Ji=t <t 7€ nferr A =9 2014 & 2019 % s 9 wEG K. L M @R N @ fafas g wfian 4 mfas
FHETS AT (A) #H wlien | st i (P) Fi @em % ks 2w e #) Ao % sEn aew

fafim ==t @ wr=afi =it adaw gen

e —> K L M N
- A|P|A|P|A|P| A |P
d

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 6380 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

For which of the following cities the percentage of candidate passed among those who
appeared for the examination 12 minimum in the vear 20197

(1) K 2 L

Fin il - r A AN T



L) 4Vl =) 4N

T4 2019 § F=fatgg § 9 @ vt ® wien § wiihs sHame S=9E § ¥ 39 9iE 9 3 seard
speAfgaT 1w Hi atqeadr =g 7 7

(1) K 2 L
(3) M 4 N

[Question ID = 4119][Question Description = Q03_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15939]
2. 2 [Option ID = 15940]
3. 3 [Option ID = 15941]
4. 4 [Option ID = 15942]

4)
The table below embodies data on the number of candidates who appeared (A) and passed (P)
in Civl Services Examintion from four cities K, L, M and N during the year 2014 to 2019. In

accordance with the table. answer the question

Year-wise Number of Candidates from Different Cities
ity —5 K I M N
T A|lP|A|P | A|PB| A |P

)

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 630 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

I & 7S Ao W a9 2014 ® 2019 % A 9 weg K L. M @R N ® fafae d@ar wiar 4 mivs
AT AT (A) ¥R e 8 = gt () 1 @ F s 2w o #) arfes % eEEm T

fafir weat & sreafdar i adar gen
e —> K L M N

4 & | P A | P A | P A P
"

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 605 | 324 | 728 | 480 | 1135 | 840
2016 T20 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 [ 315 | 740 | 464 | 1165 | 780

What 1s the percentage rise in the number of candidates who passed from City K from year
2017 to vear 20187

1) 32% @ 36%
(3) 40% 1) 44%

et K © 99 2018 | 310 a4l K @ g8 @ a9 2017 | 39 Asiaal i gemn o e gioe

(1) 329 (2 36%



(3

40% (4) 44%

[Question ID = 4120][Question Description = Q04_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15943]
2. 2 [Option ID = 15944]
3. 3 [Option ID = 15945]
4. 4 [Option ID = 15946]

5)

The table below embodies data on the number of candidates who appeared (A) and passed (P)
in Civl Services Examintion from four cities K. L, M and N during the yvear 2014 to 2019. In

accordance with the table. answer the question

Year-wise Number of Candidates from Different Cities
it -3 K I M N

p A|P|A|P|A|P| A |P
\

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

e & 5 arferrr ® A9 2014 © 2019 % =R 9@ wEg K, L. M @R N © fafre gen wien 9 wee
FHAT AT (A) R wfiE | s wefia (P) i @em & s 20 T #) arfes % e e

fafi =t o wr=fed=) $i adan gen

T —> K L M N
b A|lP|A|P|A|P| A |P
\)

2014 782 | 360 | 612 | 310 | 720 | 410 | 1020 | 802
2015 804 | 472 | 608 | 324 | 728 | 480 | 1135 | 840
2016 720 | 448 | 636 | 298 | 680 | 390 | 1084 | 864
2017 750 | 360 | 655 | 305 | 695 | 396 | 1096 | 766
2018 824 | 504 | 640 | 346 | 712 | 424 | 1180 | 752
2019 850 | 496 | 600 | 315 | 740 | 464 | 1165 | 780

The total number of candidates who passed from City M in all the six years together 1s what
percentage (%) of the total candidates who appeared from City M in all the =ix years
together?

(1) 56% (7Y  58%
(3) G0% (4) 62%

il Tz 791 % E we M & I 2R 9 weEiEl 1 e gem = wd o 96 % gee v M E
TiteT § 1 T A ATt i Fe T w e ato 20

(1) 56% (2) bH8%
(3) 60% (4) 62%

[Question ID = 4121][Question Description = Q05_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15947]



2. 2 [Option ID = 15948]
3. 3 [Option ID = 15949]
4. 4 [Option ID = 15950]

Topic:- GP_Set3_B

) Which theory of learning supports reflective level of teaching?

(1) Theory of conditioning (2) Reinforcemet theory
(3 Need-reduction theory (4) Cognitive field theory

AT =1 FA-=1 TogE fEy % maeRE T w6 AuYE w2 7

(1)  sH= %1 faga (2) wEeE fagE
(3)  TEvEFRAI-H T Tgh (4) HFATEFR-& fagE

[Question ID = 4122][Question Description = Q06_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15951]
2. 2 [Option ID = 15952]
3. 3 [Option ID = 15953]
4. 4 [Option ID = 15954]

2) TIdentify the characteristics of field-dependent learners from the following?

(A) Perceives global aspects of concepts and materials
(B) Focuses on facts and principles

(C) Prefers to work alone

(I Seeks guidance and demonstration from teacher

(E) Likes to cooperate

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2) (A). (D) and (E) only
(3) (B). (C) and (D) only
(4) (C). (D) and (E) only

Freafafaa | 8 Fies-antm st =1 61 Semast f == it -

(A)  FHAFIRHA! N faEE Al * AfTaE yEaHl w wwE
(B) A 3R fagi = W A E

(C) e F F1 THE el &

(D) T o RenfAem 3R we9E i 77 F 2

Hi=1 T30 v el 8 ® wE I R == i

(1)  F= (A), (B) 3 (C)
(2)  FA (A), (D) 30 (E)
(3)  F== (B). () ¥ (D)
(4) == (C). (D) 5 (B)

[Question ID = 4123][Question Description = Q07_GP_21NOV_S1_SHAAN]



1. 1 [Option ID = 15955]
2. 2 [Option ID = 15956]
3. 3 [Option ID = 15957]
4. 4 [Option ID = 15958]
3) : —
Match Lizt I with List IT
List I List IT
(Levels of teaching and learning) {Main feature)

(A)  Autonomous development level (I It is problem-centred and requires on
the part of learners more active
participation. more Imagination and
creativeness

(B)  Memory level (II) Lays stresz on the Iimportance of
students’ feelings and minimizes the
value of hard thinking.

(C) Understanding level (IITI) It 1s comparatively thoughtless.

(D) Reflective level (IV) It emphasizes on seeing of
relationships between principles and
solitary facts,

Choose the correct answer from the options given below :

(1) (A)-(1). (B)-(IT), (C)-(III). (D)-(IV)

(2) (A)-(III), (B)-(IV), (C)-(I), (D)-(II)

(3) (A)-(IT). (B)-(III), (C)-(IV), (D)-(D)

(4) (A)-(IV). (B)-(D). (C)-(II). (D)-(III)

FH1-1 % =g g=-11 =1 faem i
1 et-11
(A) = fawm T (I) =& GHEAT Hfgd 7 & 991 08 s

Fo] AT AT A $1 T w6l

(B) T E (ID) =z faenfd=i 6t gEae & 95 W99
(C) sy =W (D) = qemen: =9 & frards 2 21
(D) fomes =m (IV) = fogral =it vwrhl @i & ot "=y =+

g WSS <Al 2|

e fau U TR ® W R ST R =EA AT

(1) (A)-(D). (B)-(IT). (C)-(III). (D)-(IV)

(2) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(II)

(3) (A)-(IL). (B)-(I1I), (C)-(IV). (D)-(I)

(4) {A)-(IV). (B)-(I). (C)-(II), (D)-(1II)
[Question ID = 4124][Question Description = Q08_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15959]
2. 2 [Option ID = 15960]

3. 3 [Option ID = 15961]
4. 4 [Option ID = 15962]

4) .
Given below are two statements :

Statement I : Enowledge. comprehension and application levels in Bloom's taxonomy
belong to the higher level of cognitive learning.

Statement II : Organization and characterization belong to higher level of affective

outcomes.



In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement I1 1s correct.

= 31 e few mm #

F94 () : T I AT (TAEEE) FOFH, FEEy @i S T GEEE S F I
T GEad 7
= (1I) AT ST AT R AT TR % 3= W H HEd E

ST FYE F AEF 4, S B e e 9 8 e Sua I F =9 Fiaw

(1) = () 3R (I0) 3 =8t &
(2) = (1) A% (1) 391 TeE #
(3) = (D) e 2, wieA e (1) e &

(4) =9 (1) 7= &, @i w5 (1) w8 8

[Question ID = 4125][Question Description = Q09_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15963]
2. 2 [Option ID = 15964]
3. 3 [Option ID = 15965]
4. 4 [Option ID = 15966]

5 : : : :
) Given below are two statements : One 1s labelled as Assertion A and the other 13 labelled as
Reason R.
Aszertion (A):  Formative assessment is process linked and directed at raising motivation
and engagement levels in learning.
Reasons (R) : The purpose of formative assessment 1s to improve quality of learning

outcomes.

In the light of the above statements, Choose the most appropriate answer from the options
given helow :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) 1z NOT the correct explanation of (A).
(3) (A) is correct but (R) 1s not correct.

(4) (A) 1s not correct but (R) 1s correct.

31 o f3g w F : uw afiEea (Assertion A) % ®W ® fHfiaa # @ g5 3wF F001 (Reason R) &
=0 Y

HFRI (A) FToTER ST U & S SETH H HeSiad B3I IEH U AR wE wE OF
Fee 1 FEE w2
F0 (R) FAmToTeEs 2R T T sty aforEt i e § gan A6 2|

I FUA F TAEE °, A= G e e § 1 gen 3ugw I w6 =997 e

(1) (A) =R (R) 2A1 ®&1 2 3117 (R), (A) i 58l = 2
(2)  (A) 2 (R) ZF1 =21 2, S (R). (A) i 78 =men 75 2
(3) (A=, o (R) =8t 781 &



(4) (A "d 9 B, o (R) o8 2

[Question ID = 4126][Question Description = Q10_GP_21NOV_S1_SHAAN]
1 [Option ID = 15967]
2 [Option ID = 15968]
3 [Option ID = 15969]
4 [Option ID = 15970]

A W N -

6) Creating purpose statements, research questions and hypotheses that are narrow and

measurable would mark the characteristic features of which research type?
(1) Narrative research (2) Ethnographic research

(3) Grounded theory research (4) Expermental research

UHISA WY, WY 999 AT OiHE ud WA gimendr dun #a efeiigd @ 9 femowa wewmn st
famma 27

(1)  foomess g (2) Fedta g
(3)  smanies fageaes Ty (4)  TEFTEEE Y

[Question ID = 4127][Question Description = Q11_GP_21NOV_S1_SHAAN]
1 [Option ID = 15971]
2 [Option ID = 15972]
3 [Option ID = 15973]
4 [Option ID = 15974]

AW N =

7 1In ‘two groups. randomized subjects post test only’ research design which of the following

may be the source for jeopardizing validity?

(A) Pretesting procedures

(B)  Measuring instruments

(C) Interaction of selection and the independent variable
(D) Reactive experimental procedures

(E) Statistical regression

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3 (C) and (D) only
(4) (D) and (E) only

I AT ATH AETIFd TEASA T HEe ITEE W 916 g A9 & A J9a1 # & a9 & a@a
% ¥ § THefeigd § 9 F9-9 G919 #5909 87

(&) wEwE afEE

(B) WU T

(C) =99 317 =ad =0 % == A4 A

(D) Widisami= T=ErTeE T

(E) =i g

i fau o famedi @ © W 3T 1 =9I it

(1) == (A) 3R (B)
(2) == (B) =1 (C)

(3) =& (C) #k (D)

o e



(4) = (D) H (E

[Question ID = 4128][Question Description = Q12_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15975]
2. 2 [Option ID = 15976]
3. 3 [Option ID = 15977]
4. 4 [Option ID = 15978]

8) Match List T with List IT
ListI List II
Rezearch Steps Main features
(A) Defining a research problem (I) Appropriate statistical techniques for
data analysis
(B) Hypothesis making (I) Representativeness of the units chosen
(C) Drawing a research sample (IIT) Identifying the variables for setting up
a plausible relationship
(D) Hypothesis testing (IV) Carefully chosen terms and concepts
with operational descriptions. if need
be.
Choose the correct answer from the options given below :
(1) (A)-(D). (B)-(II). (C)-(I11I). (D)-(IV)
(2) (A)-(ID), (B)-(I). (Cy-(IV), (D)-(I1I)
(3) (A)-(III), (B)-(IV). (C)-(I), (D)-(II)
(4) (A)-(IV), (B)-(I1I), (C)-(IT), (D)-(I)
Ft-1 % @19 F=-11 1 e fifsm
H=1-1 111
(A) I HHEAT I G T (Iy st faveao 2q wgfua wifeT=hE G-
(B) TfeReTl d9R F (D) ==t gHe i -
(C) =g ufage = (III) =g Aay ¥fna #74 2g =0 #1 Twae
AT
(D) wiReTT TiiEm (IV) A=k 95+ W, %/ fa=ron afea
AEEHEF =7

= f2u o fasmedi @ wF1 TR 1 =5 Hifaw

(1) (A)-(D). (B)-(ID), (C)-(III). (D)-(TV)
(2) (A)-(ID), (B)-(I), (C)-(IV), (D)-(I1I)
(3 (A)-(IIL), (B)-(IV). (C)-(I), (D)-(II)
(4) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)

[Question ID = 4129][Question Description = Q13_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15979]
2. 2 [Option ID = 15980]
3. 3 [Option ID = 15981]
4. 4 [Option ID = 15982]

9)  Given below are two statements :
Statement I : Research ethics forms a zenuine concern for research to lend credibility in
findings.
Statement IT : Use of ICT 1n research 1= mandatory as it 1s economical In terms of time

and use of resources.

In the light of the above statements. Choose the most appropriate answer from the options



given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement II 1s incorrect.
(4) Statement I 1= incorrect but Statement IT 12 correct.

ElE R E R ok 1o

F1 (I) : oy - eedt @ favasdma w9 % e oy 29w g GO g9
=l 2

Fuq (ID) : Yy § W H A w wEe AHEE 2w 98 oeg 3R el % A & 92 |
faeat 21

U Y ST A, e fEu e el  ° wed ugt I w0 = i

(1)
(2)
(3

(4)

F9A (1) 311 (IT) 31 98t &
e (1) 1 (ID) 21 7o &
F (1) @@ &, =i F9a (1) Teid &

Fom (1) T B, A Foe (1) 78 &

[Question ID = 4130][Question Description = Q14_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15983]
2. 2 [Option ID = 15984]
3. 3 [Option ID = 15985]
4. 4 [Option ID = 15986]

10)

Given below are two statements : One 1s labeled as Assertion A and the other 1s labeled as
Reason R.

Assertion (4) :  Format and styles of referencing in thesis writing are enforced with a view
to effect observance of formal protocols.

Reaszons (R) : Formal protocols ensure avoidance of deviations from norms and
procedures of reporting research.

In the light of the above statements, Choose the most appropriate answer from the options
given helow :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A).
(3) (A) 18 correct but (R) 1s not correct.

(4) (A) 18 not correct but (R) 1s correct.

= 2 F9F U U UF (9E9A (Assertion A) % =9 § feifigd # at B 0% #n7 (Reason R) %
= | z

ATFI (A) TMY-TEY FET § HeUR F UEd R A FOUEE SAvErid W w0 Saer
giTTad i = T d o W 2
FI (R) A Tiehie Ufeafed g+ gHEsi S uiEwmsl @ fHerar =i i gy

IHIF HUA F AT °, A= EE 0 famedt # 9 wesw 3ugeE 6 a0 99q i

(1)

(A) 31 (R) 2T #21 & 311 (R), (A) 1 =& =am=m &



(2) (A F(R) ZET T E, A (R). (A) F wE = 6 2
(3) (A=A 2, dfF (R) =81 741 =
@) (A TE R R, | (R T R

[Question ID = 4131][Question Description = Q15_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15987]
2. 2 [Option ID = 15988]
3. 3 [Option ID = 15989]
4. 4 [Option ID = 15990]

11 : g & g : :
) The leaat contributor to nolse in communication system by the audience 1s
(1) Selective attention (2) Selective perception
(3) Selective retention (4) Selective intention

FEI IO § HTE1 G S -STE ° e 5 "R R -

(1)  ==As® =H (2) =EATEF HFEEA
(3)  ==TcHE FEEE (4) =EATEF TE

[Question ID = 4132][Question Description = Q16_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15991]
2. 2 [Option ID = 15992]
3. 3 [Option ID = 15993]
4. 4 [Option ID = 15994]

2) Which of the following are parameters of an effective communication?

(&) Freedom to see and hear. What 1s here?

(B) Freedom to say. What one thinks and feels?

(C) Freedom to decide. What should be. was, are. will be?
(D)  Freedom to feel. What one feels?

(E) Freedom of always walting for permission.

Choose the correct answer from the options given below ;
(1) (A). (B) and (D) only
(2) (A). (B) and (C) only
(3) (B). (C) and (D) only
(4) (C). (D) and (E) only
frAfefEs O ° %9 ° UF-T% uuTE Trn o 9499 A 7

(A) 7@ T RY - TE @ AR G f FH

(B) i FA1 WAl AT HEHH FIAT 27 — T8 FEA H TAd
(C) 1 /1 =RY, T B, FA1F TR, FEE - A v o A w=mea
(D) =% 91 HEH AT 27 - A% FEgH FA i T

(E) =99 31H(d  Sa9R H E=aedl

4= 20 Tv e § | wE 3 A 99 i

(1) == (A). (B) # (D)
(2)  =ad (A), (B) 3 (C)
(3) == (B). (C) #iT (D)

4y I (O (D) 3 (F)



[Question ID = 4133][Question Description = Q17_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15995]
2. 2 [Option ID = 15996]
3. 3 [Option ID = 15997]
4. 4 [Option ID = 15998]

13)

Given below are two statements : One 1s labeled as Assertion A and the other 1= labeled as

Reason R.

Statement I : Communication 1s the process of transmitting a message from a source to
an audience via a channel.

Statement II : To establish ‘Commonness’ between the source and the audience is

effective for success of communication.

In the light of the above statements, Choose the eorreet answer from the options given

below :

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are falze.
(3) Statement I 1= true but Statement 11 1= false.

(4) Statement I 1s false but Statement II 1s true.

I 21 fou ’Tf{'”';‘ : U ATRYT (Assertion A) % w9 & fefiag ? Gl TH IF FA {Reason R) e

®OH

EXCB aigTd ifa® TwEl gEEw 99w 2 w9 @ s e (mmweat) w i
reEaT 7|

EXCHI wia N fdiar 7ae 519 @9 F o0 wreal i v B AT # uEe e B

I FUA F AR H, A= o T e § W w39 39 1 =9 i

(1)

(2)

(3)

4)

Fo 1 3t 11 241 =et &
e I @7 11 21 e 7
FoF 1 Har 2, wif Fig 11 e 2

Ty 1 7ed & e #9911 8 2

[Question ID = 4134][Question Description = Q18_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 15999]
2. 2 [Option ID = 16000]
3. 3 [Option ID = 16001]
4. 4 [Option ID = 16002]

14)  Match List T with List IT

List I List 1T

Styles that impede communications Characteristic feature
(A) Placating (I) Doing or sayving what is irrelevant.
(B) Blaming (II) Being overcorrect.
(C) Computing (III) Fault finding and acting as superior.

(D) Distracting (IV) Talking in an ingratiating way



Choose the correct answer from the options given below :

1) (A)-D. B-AD). (C)-(III). (D)-AV)
@) (A)-ID). B)-1). (C)-IV). (D)-(IID)
)  (A)-IID. B)-aV). (C)-(D). )-(ID)
@ (A)-IV). B)-(III). (C)-(II). (D)-(I)

FHt-1 = =19 g=-11 =1 faes =it
=1 F-11
Seft =1 T w2 Fergrean
(&) deFm (I) %1% =Ta AT AT Fedl
(B) AR (IT)  =rgan = wfa w¥fa Feams 2
(C) @A (II) 7T=faaT gaa1 31 379 F ded FHH ada
AT
(D) E-971 (IV) #9999 9 ¥ T2 F4 & T4=7 § &9
Ezc)

= f2u o fameat © @ w5 =R = i

(1) (A)-(T). (B)-(IL). (C)-(I1I). (D)-(IV)

(2) (A)-(ID). (B)-(I). (C)-(IV), (D)-(I1T)

(3) (A)-(III). (B)-(IV). (C)-(D), (D)-(1IT)

(4) (A)-(IV). (B)-(I1T). (C)-(IT). (D)-(I)
[Question ID = 4135][Question Description = Q19_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16003]
2. 2 [Option ID = 16004]

3. 3 [Option ID = 16005]
4. 4 [Option ID = 16006]

15)  Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) : More effective communication accurs when source and recelver are
homophilous.

Reaszons (R) : Source and recelver use same language and words to stimulate similar
meaning.

In the light of the above statements, Choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) i1s NOT the correct explanation of (A).

(3) (A) iz correct but (R) 1= not correct.

(4) (A) 1s not correct but (R) 1s correct.

A1 21 %A BU U 2 U ATFYH (Assertion A) % w9 H Tefigd & A R 0% FAW (Reason R)

AfeFI (A): T G T AT OF A a0 WA £ a9 A S wte w2 Al



L FA TF A TH FEE AY @G FH R T B TE W GO GGOH AIAAM

Al 7
IR YAl % AT H, 419 {2 T fawedi § @ weE 39gw I 1 99 I

(1) (A) 3R (R) 2T @él # 3 (R). (A) i wd) = 2

2) (AR (R) FA T E, S R), (A) i w5 = T

(3) (A 2, FfF (R) w7 2

(4) (A @A AE 2, A (R) TE R
[Question ID = 4136][Question Description = Q20_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16007]
2. 2 [Option ID = 16008]

3. 3 [Option ID = 16009]
4. 4 [Option ID = 16010]

16) A milkman has been mixing water with milk to earn 25 per cent profit by selling the mixture
at the cost price. The ratio of water and milk. respectively. 157

(1) 4:5 (2) b:
(3) 1% b 4y 1:

N

U Y- Teghdl 39 WA ® 59§ Wel e w1 2 R 36 e -THiE 5 i g 59 % @rE god T See |
25 W= F1 FH WH F| T 3R 59 AT B -

5 2y 5
5 4) 1:

(1) 4 14
(3) J::2 4

[Question ID = 4137][Question Description = Q21_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16011]
2. 2 [Option ID = 16012]
3. 3 [Option ID = 16013]
4. 4 [Option ID = 16014]

17) A 19 percent debt instrument fields 20 percent return. The market price of the underlying
debt instrument is

(1) Rs. 167 (2) Rs. 170
(3) Rs. 60 (4) Re. 40

12 e o1t U S/O-T9 @ 20 Wierd 1 AH (Fies) OH B 2| ST R0 09T S G god B -

(1)  167%74 (2) 170%%

(3) 60FH (4) 40%H
[Question ID = 4138][Question Description = Q22_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16015]

2. 2 [Option ID = 16016]

3. 3 [Option ID = 16017]
4. 4 [Option ID = 16018]

18) The difference between the simple interest received from two different sources on Rs, 1,500
for three vears is Rs. 13.50. The difference between their rates of interest is

(1) 0.1% (2) 0.2%

(3)  0.3% (4) 0.4%
1500 =9 7 g0 W S-S GE] | T4 F91 % [0 9 @R e6rE w49 13,50 T 2| 39
AT 3T H SR B -

. P —— . e



L) o1 o =) V.o 0

(3)  0.3% 4) 0.4%

[Question ID = 4139][Question Description = Q23_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16019]
2. 2 [Option ID = 16020]
3. 3 [Option ID = 16021]
4. 4 [Option ID = 16022]

19) A watch reads 4.30. If the minute hand points East, in which direction will the hour hand
point?
(1) North (2) North-West
(3) South-East (4) North-East

F TE 4.30 oA fom W 2| 3t e f 52 @ e = sFe = R o ge i g e o st

A ¢

(1) == (2) FE-ulv=m
(3)  wfer ) s

[Question ID = 4140][Question Description = Q24_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16023]
2. 2 [Option ID = 16024]
3. 3 [Option ID = 16025]
4. 4 [Option ID = 16026]

20) In a certain code language, 24685 1= written as 33776. How 12 35791 written in that code?

(1) 44826 (2) 44882
(3) 46632 (4) 44682

FHfw Fz | H 24685 T 33776 ToT@n T 81 39 F2 F 35791 F FHH v foram s

(1) 44826 (2) 44882
(3) 46682 (4) 44682

[Question ID = 4141][Question Description = Q25_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16027]
2. 2 [Option ID = 16028]
3. 3 [Option ID = 16029]
4. 4 [Option ID = 16030]

21)

According to Nyava the argument — ‘Sound is eternal because it 1= produced’ commits,
which of the following fallacy?
(1) Viruddha (Contradicting reason)
(2) Nature of the opposable reason ( Satpratipaksa)
(3) Unestablished reason (asiddha)
(4) Nature of unoppozable reazon (aSatpratipaksa)
=T % SIER, 9% - 91 Wvad & i 97 991 Bl 2, 4 fetatas 8 ¥ F4 a@1 gy 27
(L =g (2) waufauE
(3) wfug (4) TEATiETe

[Question ID = 4142][Question Description = Q26_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16031]
2. 2 [Option ID = 16032]
3. 3 [Option ID = 16033]
4. 4 [Option ID = 16034]

22) With reference to pramana theory both on dialogical and philosophical discourse. which of



the following options are correct?

(A) It furnishes the required grounding for the thesis to be backed up by a certaln means
of knowledge.

(B) It provides the necessary platform to incisely analyse the proposed thesis.

(C) It enables us to succinitly summarise the chservations, that stem out of analysis. in
the form of anumana or nyava prayoga.

(D) It enables the debater to elicit acceptance of hizs/her own belief system on the basis of

formal validity alone.

Choose the correct answer from the options given below :

(1) {A) and (B) only
(2) (A) and (C) only
(3) (A). (B) and (C) only
(4) (A). (B) and (D) only

siarfam it 2t 2 i & vl s frgia % e 3 Frerfeian § @ F-8 frren w37

(A) 7z wifgamon &g smfEe e g2 Wt ¢ fSEed Hiaed 39 & mes g st w2
(B) @z Tt Ffemen o T © favelnw w2 Evas 99 99 el 2|

(C) @z faweiao & W9 “TaeTaA F1 AT F9ET A TEE % B9 H qEeiG e 5 5EY sea 2

(D) =& FEHFAl H FAhd A= 961 F AER W T =E H fagem gt #w ofma we d

gy T 2

= o o faereTt ® © wE 3T o =9 i

(1) == (A) #1 (B)

(2) == (A) 2 (O

(3)  FAE (A), (B) 31 (C)

(4) == (A), (B) 31 (D)
[Question ID = 4143][Question Description = Q27_GP_21NOV_S1_SHAAN]
1 [Option ID = 16035]
2 [Option ID = 16036]

3 [Option ID = 16037]
4 [Option ID = 16038]

A w N =

23 :
) Given below are two statements :

Statement I : The works in Nyaya-Sastra discuss the aggregate causal conditions and

the process involved in inferential cognition.

Statement IT : The works in Nyaya -Sastra do not however dwell upon analysis of the

factors that help to assess and decide the formal validity of a judgement.

In the light of the above statements, Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.
(2) Both Statement I and Statement II are incorrect.

(3) Statement I 1s correct but Statement II is incorrect.



(4) Statement I 1s incorrect but Statement II 1s correct.

s wEARem

F9 (1) : N % 9 HA0 wRveEE] i 59 sEEEe TE 2 Hied uiwa o=
Fo1 (1) : =ra-urE % 99 fiEa 39 Fenl = favemn w A T8 w2 = Tl i attenion

AT T AR B A T o H e #d 2

IULE YA % A, A9 fau e fement § @ g s swe = Hifa

(L) A (1) &1 (I0) =1 781 &
(2) == (I) 3 (ID) H1 TTeid 2
(3) = (1) =dl &, WA F (1) 7o 2
4)  FA (1) T 7, A w0 T R

[Question ID = 4144][Question Description = Q28_GP_21NOV_S1_SHAAN]
1 [Option ID = 16039]
2 [Option ID = 16040]
3 [Option ID = 16041]
4 [Option ID = 16042]

A W N -

24) “Famous Singer Himanshu says that Coffeehill chocolates are groovy. We can only conclude

that Coffeehill chocolates are groovy indeed”.
Which of the fallacy 1s commited in the above statement?

(1) Hasty Generalisation (2) Appeal to unqualified authority

(3) Slippery slope (4) Missing the point

fal at

el R O o - b ! - a T .. R T -
4G TEH 5917 Fad ® R FIBIEd Disheld a1 7l 2| 59 UHAT T8 Hwehd fHae 95d & & Sidifad
A2 ard § S B Bl

I YT H HATARE 8§ HH-E 9 gied g 27

(1)  FearmmEr § A= (2) -Tammy miawrt (=1F) = ofa e
(3) oot = (4) TEE [ TEEE

[Question ID = 4145][Question Description = Q29_GP_21NOV_S1_SHAAN]
. 1 [Option ID = 16043]
2 [Option ID = 16044]
3 [Option ID = 16045]
4 [Option ID = 16046]

A W N -

25) The set of attributes shared by all and only those objects to which a general term refers. iz

called :

(A) The intension of that term
(B) Connotation of that term
(C) The extension of that term
(D) Denotation of that term

Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (C) and (D) only
(3) (A) and (C) only
(4) (A) and (D) only

U S A=A S A qd 3 g4l sege A wmEtem B W vE @ 1 g 3FE e s 2,
FEA & -



(A) 39 98 = Afma
(B)  3® g Sl wradeal
(C) =0 T = 9w
(D) 39 U i aEau

e f2u o fameal | © gE 3 o 959 it

(1) =& (A) ®#R (B)
(2) AW (C) F7 (D)
(3) =S (A) 3T (C)
(4)  =hae (A) #R (D)

[Question ID = 4146][Question Description = Q30_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16047]
2. 2 [Option ID = 16048]
3. 3 [Option ID = 16049]
4. 4 [Option ID = 16050]

26) With regard to computer memory, which of the following statements are TRUE?

(A) Secondary storage 1s slower, cheaper. and less volatile than primary storage.
(B) Tape drives are direct access devices.
(C) The contents of most forms of RAM are volatile, thus making them unsuitable for long

term data storage.
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only

(4) (A). (B) and (C)

FOAE TART F HAG H FAfeET § ° F#E-H w9 F 5 1

(A)  Hehvsh S wTERd 2R i ger | efmn, s aun Y S wiar 2|

(B) =¥ gead i ug= =t u=w (fearsm) 2

(C) 9 (RAM) & Haitas =01 % e wAfewn (Fielzrsel) #id 3| 3@ THK ° 3= @y 327 =2Ha &
fore, g s 2|

Hi= fou U kel | @ =E 39 1 = St

(1) =3 (A) 31 (B)
(2) ¥4 (B) 3 (C)
(3)  FaAd (A) F (C)
4) (A (B)#F (C)

[Question ID = 4147][Question Description = Q31_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16051]
2. 2 [Option ID = 16052]
3. 3 [Option ID = 16053]
4. 4 [Option ID = 16054]



27) With respect to computers. what 1z the main advantage of a Graphical User Interface (GUI)

compared with a Command Line Interface (CLI)?

(1) Provides higher level of security and requires less memory
(2) Easier to use for non-experts

(3) Performs complex tasks faster and requires less memory
(4) Requires less processing power

FrgE F HIG H, TS o 0 (O v wng) fi go § w390 s2ved (S g o) g
T F R
(1) 3= = =1 TI%T Ged1 F0d1 ¢ 317 58 %9 99 i F%d 2l 2
(2)  Tr-fammt % wEE 2 e 2
(3)  fZe ®E R 95 TG H HE § AT TH wH 99Hl H wE vl B
[Question ID = 4148][Question Description = Q32_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16055]
2. 2 [Option ID = 16056]

3. 3 [Option ID = 16057]
4. 4 [Option ID = 16058]

28)

Identify the correct order of the following computer storage capacities ranked from smallest
to largest capacity.

(A) 100 GBytes

(B) 10 000 000 000 Bytes
(C) 1 TBytes

(D) 100 000 MBytes

(E) 1 000 000 KBytes

Choose the correct answer from the options given below :
(1) (D), (B). (E). (A). (C)
(2)  (E). (B). (D). (A). (C)
(3) (B). (E). (D). (A). (C)
(4) (E). (B). (D). (C). (A)

frmfafas Fogz wis aumar # 99 F9 § g99 119 F0a1 F @9 %9 4 gmE S

(A) 100 fim =Sz

(B) 10 000 000 000 =152

(C) 17ZmaEme

(D) 100 000 =T &T32

(E) 1 000 000 T =méz

= Tau o fameal ® © A 3 #0199 St
(1) (D). B). (E). (4). (C)

(2)  (E). (B). (D). (A). (C)

(3) (B). (E). (D). (A). (O)

(4)  (E). (B). (D). (C). (A)

[Question ID = 4149][Question Description = Q33_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16059]
2. 2 [Option ID = 16060]
3. 3 [Option ID = 16061]
4. 4 [Option ID = 16062]

29) Given below are two statements :

Statement I : A web browser i a piece of software that retrieves and displavs web pages.

Statement II: A search engine 1s a special kind of wehbsite that helps people in finding

a1 o LT 1



AVEL Prapes IT0O111 ULIIsD Wel-slles,

In the light of the above statements., Choose the correct answer from the options given

below :

(1) Both Statement I and Statement IT are true.

(2) Both Statement I and Statement II are falze.
(3) Statement I 1= true but Statement IT 1= false.
(4) Statement I 1s false but Statement II is true.

F (D) T8 WS TR WAL B A 98 UH] 1 2@ BEE AT # H 9S6 w1 B
= (1D : T TS U R TN ) Ge@ise B S Skl o7 d9 |52 | 9§ Us 0TH H o
a2 FAl 7

IWEIF FIF F AT H, A9 G 0 FEen 8 | 98 39 #1999 S

(1) = (1) 3 (1) 2F1 e 2

@ e (D) 3R (1) 3 rEe #

(3) WA (I) e 2, =it = (1) 38T 2
4) YA (1) FEA B, AR w9 (1) TeF 2

[Question ID = 4150][Question Description = Q34_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16063]
2. 2 [Option ID = 16064]
3. 3 [Option ID = 16065]
4. 4 [Option ID = 16066]

30) Match List I with List II

ListI List II
(Computer Components) (Description)
(A) HDD (I Visual Display Unit
(B) RAM (II) Volatile Memory
(C) ROM (IIT) External Memory
(Dy CRT (IV) Non-Writable Memory

Choose the correct answer from the options given below :

(1)  (A)-aD). (B)-(IID). (C)-(IV). (D)-(I)
2)  (A)-aID. (B)-aI). (C)-(D). (D)-(IV)
(3)  (A)-AV). (B)-(III). (C)-(1I), (D)-(I)
4) (A)-(IID). (B)-(IL). (C)-(IV). (D)-(D)

FH-1 = =g F=-11 =1 e it
I 11

(A) HDD I fager= fsot gfe=



(B) RAM (II) 3T HAET
(C) ROM (IIT) =Tea HuH

(D) CRT (IV) FH-TrE2se oot

Hi fou v fasmedi § ® @E 3 1 == it

(1) (A)-(IT), (B)-(III), (C)-(IV). (D)-(I)
(2) (A)-(11D), (B)-(II), (C)-(I). (D)-(IV)
(3) (A)-(IV). (B)-(I11), (C)-(I1). (D)-(I)
(4) (A)-1ID). (B)-(ID), (C)-(IV), (D)-(T)

[Question ID = 4151][Question Description = Q35_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16067]
2. 2 [Option ID = 16068]
3. 3 [Option ID = 16069]
4. 4 [Option ID = 16070]

31) How many missions are there under the Climate Action Plan of Govt. of India?

1 4 2 8

(3) 12 (4) 17
G TR i FFarg FE T F A Fa foeE 27

(1) 4 2 8
(3) 12 4 17

[Question ID = 4152][Question Description = Q36_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16071]
2. 2 [Option ID = 16072]
3. 3 [Option ID = 16073]
4. 4 [Option ID = 16074]

32) According to India Meterological Department, average sustained wind speed over 3 minutes

of a evclonic storm. is in the range

(1) 40 — 50 km/hr
(2) 50 — 60 km/hr
(3) 63 — 88 km/hr

{4) 200 - 225 km/hr
(1) 40— 50 F.dft. /4.
(9) 50— 60 TRt /5.
(3) 63— 88 R /5.
4)  200— 295w /4.

[Question ID = 4153][Question Description = Q37_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16075]



2. 2 [Option ID = 16076]
3. 3 [Option ID = 16077]
4. 4 [Option ID = 16078]

33)

Given below are two statements :

Statement I : Wind farms are generally set up on exposed hilltops or coasts in remote
areas.

Statement II : Wind velocities are steady in these remote locations.

In the light of the above statements. Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement II 1s correct.

=i 31 e fam e #

9 (1) : TS B W G & § ueifedl & g o fae wtwen @ng a2 W i fEw
EIR
FA (ID) : T G TH W TS G T w5l 2

IUUE FUE F ATATE °, H= 50 e e 4 8 e 39w 39 F =4 i

(1
(2)
(3)

(4)

e () 3 (ID) 31 @2t 8
w9 (1) 31 (10) 341 7Te39 7
o[ (1) T2 2, ST %o (TT) 7o 2

FuA (1) T 2, wfET weE (1) T8 B

[Question ID = 4154][Question Description = Q38_GP_21NOV_S1_SHAAN]

A W N -

34)

1 [Option ID = 16079]
2 [Option ID = 16080]
3 [Option ID = 16081]
4 [Option ID = 16082]

Given below are two statements : One 1s labelled as Assertion A and the other 1s labeled as
Reason R.

Assertion (A) :  Production of electricity from Renewable Energy sources 1= without
adverse environmental impacts.

Reason (R) : There i1z no net emission of carbon di-oxide into atmosphere from
exploitation of Renewable sources of energy.

In the light of the above statements, Choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) 12 the correct explanation of (A).

(2) Both (A) and (R) are true but (R) iz NOT the correct explanation of (A).
(3) (A) 18 true but (R) is false.

(4) (A) 18 false but (R) 1s true.



A ol T 6T Y 7 L TR AT (Assertion A) B0 H Tefldd & Ol gHU SHS: =0 (heason Ry =
=W

AR (A) : Tl S At @ faad IeaET = 1 S5 Wi W afags T9E 6 g 2
F (R) : AR FAl | F giE | FgHSe § e SEAEEES 1 EE g (A7) e

SERE FYA| % A H, 419 fo o fawedi § F weE 3ugE 3w 0 99 Fian

(1) (A 3R (R) 2 oed 2 20 (R). (A) i w2 =g9m= 2

(2) (A 3 (R) 2AT w7 B, = (R), (A) =i B8 = 76 B

(3) (A Te 2, @A (R) o9 2

4)  (A) ¥EeE 2, @i (R) O &
[Question ID = 4155][Question Description = Q39_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16083]
2. 2 [Option ID = 16084]

3. 3 [Option ID = 16085]
4. 4 [Option ID = 16086]

35) “Wheezing' is the most relevant Health Effect in case of the air pollutant

(1) Ozone (2)  Carbon monoxide

(3) Nitrogen dioxide (4)  Sulphur dioxide

foFm 917 ea= =+ mEe 1 R mEiaE T T wedt T ? -

(1) A (2) AT AAATFEES
(3)  ATEIIEA SEATTARS (4) TER SEAEFEES

[Question ID = 4156][Question Description = Q40_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16087]
2. 2 [Option ID = 16088]
3. 3 [Option ID = 16089]
4. 4 [Option ID = 16090]

36) Which of the following are essential for good governance of colleges and universities?
(A) Academic autonomy
(B) Legal autonomy
(C) Financial autonomy
(D) Administrative autonomy
Choose the correct answer from the options given below :
(1) (A). (), (D) only
(2) (A). (B), (C) only
(3) (B). (C), (D) only
(4) (B). (C) only

qeETfaeTeEl 3R fvafaeE & o e 29 SefEfEs § 8@ FE-8 amEvrs 27

(4)  FREE =
(B)  durf =
(C)  Tofta w=maa
(D)  veEEE =T
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(1)  =ae (A), (C). (D)
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(3) == (B). (C). (D)
(4) === (B). (C)

[Question ID = 4157][Question Description = Q41_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16091]
2. 2 [Option ID = 16092]
3. 3 [Option ID = 16093]
4. 4 [Option ID = 16094]

37)  On which of the following date National Education Day iz celebrated each year?
(1) 28 Feb (2) b June
(3) 11 Nov (4) 1 Dec

g foen Team we = Fefetag | | fee 519 = g9 s 27

(1) 28 FAE (2) sH

(3) 11 Faw=m (4) 1 fomrw
[Question ID = 4158][Question Description = Q42_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16095]
2. 2 [Option ID = 16096]

3. 3 [Option ID = 16097]
4. 4 [Option ID = 16098]

38) Match List I with List IT. Match the features of education of various types.

Lizt I List IT

(A) Ancient Vedic Education (I'  Equality was the foundation of
student-teacher relationship

{(B) Post Vedic Education (I Enrichment of Lknowledge and
experience

(C) Brahmanic Education (III) Knowledge results in wiping out
falsehood

(D) Buddist system of Education (IV) Emphasis on character building and

self realization

Choose the correct answer from the options given below :

1) (A)-@D. (B)-AV), (C)-(IID), (D)-(ID)
@ (A)-AV), B)-(D), (C)-(ID), (D)-(IIT)
(3)  (A)-dID. B)-AD. (C)-d). (D)-AV)
@  (A)-T), (B)-ID), (C)-IV), (D)-(I)

Tefi-1 % ey G-I =1 T it fafaa wem 6t foan o st faemarett = faam Fifam)

I TA-II
(A) T afew e () THF TH-ors FE = = o
(B) = dfgw fream (II) 79 37 S39a F qYgG T
(C) s fren (II) ar=ata® 719 Az 1 a2
(D) witg farem wovredt (IV) =fm fmm o awm-falg ® == f@n
EIGIR)

= f2u U e § | wE 39 R =5 FiA

(1) (A)-(D), (B)-(IV), (C)-(IIL), (D)~(II)
(2) (A)-(IV). (B)-(T), (C)-(IT), (D)-(I1T)
(3) (A)-(I1D). (B)-(ID). (C)-(D). (D)-(IV)



(4) (A)-(11). (B)-(1L1). (C)-(IV). (L)-(1)

[Question ID = 4159][Question Description = Q43_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16099]
2. 2 [Option ID = 16100]
3. 3 [Option ID = 16101]
4. 4 [Option ID = 16102]

39) “Destiny of India is being shaped in her classrooms”. this 1s stated in

(1) University Education Commission (1948)
(2) Education Commission (1964)
(3) National Education Policy (1936)

(4) National Knowledge Commission (2005)

R 1 HRT SEh HAnA 1§ FiEa w W R 9% e eAtetgy 7§ e we e ant

(1)  favafaemes foem smm (1948)
(2) T R (1964)
(3) g e g (1986)

(4) A = wE (2005)

[Question ID = 4160][Question Description = Q44_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16103]
2. 2 [Option ID = 16104]
3. 3 [Option ID = 16105]
4. 4 [Option ID = 16106]

40) The new curricular and pedagogical structure of School Education as proposed by
NEP-2020 1s
(1) 5+3+2+2 (2) b+3+3+4
(3) 2+5+3+4 (40 2+b+3+2

T3 % 41-2020 T AU TS THEAT e 1 T UEawy S AEiE Je_ e -

(1) 5+43+242 () b+3+3+4
(3) 2+5+3+4 4 2+5+3+2

[Question ID = 4161][Question Description = Q45_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16107]
2. 2 [Option ID = 16108]
3. 3 [Option ID = 16109]
4. 4 [Option ID = 16110]

Topic:- GP_Set3_C
1) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
1ssue of how best to respond to student misbehaviour. The humanist and applied behaviour

analysis approaches to classroom management shared the spotlight about equality during



this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach is based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved ohservation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguizhed more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a vear-long observation study. During the first 3 weeks of

school several tvpes of information on each of the teachers including room-arrangement,
classroom rules, consequences of mishehavior, response to inappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year, The more effective managers established themselves

as mstructional leaders during first 3 weeks of the school yvear.
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An effective teacher manager as per classroom management tradition

(1)
(2)
(3)

AN

Advocates adherence to rules
Focusses on changing or modifying inappropriate behavior

Incorporates interventions that stress communication skills
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(1)
(2)
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[Question ID = 4167][Question Description = Q46_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16131]
2. 2 [Option ID = 16132]
3. 3 [Option ID = 16133]
4. 4 [Option ID = 16134]

2) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the

1ssue of how best to respond to student misbehaviour. The humanist and applied behaviour

analysis approaches to classroom management shared the spotlight about equality during

this period. Both of these traditions are primarily reactive rather than preventive systems of

classroom management. That is they tend to provide solutions to mishehavior after it occurs,

not before. More recent research. however, has provided another approach to classroom

management that frames the question of classroom order and discipline not in terms of

reaction but prevention. This approach is based on classroom research that examined what

effective teachers do to prevent misconduct and what less effective teachers do to create it.

Some of this research involved observation and analysis of both experienced and

nexperienced teachers while they taught. The major conclusion of this research was that

more effective and less effective classroom managers can be distinguizshed more by what they

do to prevent mishehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a vear-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,

classroom rules. consequences of misbehavior. response to inappropriate behaviour,

consistency of teacher responses, monitoring, and reward systems was gathered. Further,

the number of students was counted who were on task and off task at 15 minute intervals to

determine the extent to which students were attending to the teacher. From this data the

teachers were classified in two groups. One consisting of more effective managers and other

consisting of less effective managers for more in depth obersvation the rest of the vear. Those

teachers who were catezorized as maore effective classroom managers were found to have

significantly higher student engagement rates and significantly lower student off task

behawvior during rest of the school yvear. The more effective managers established themselves

as mstructional leaders during first 3 weeks of the school year.
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A teacher who emphasises the immediate reinforcement of positive behavior and punishment

together i3 said to follow

Classroom management tradition (2) Collaborative learning

Applied Research Tradition (4) Humanist tradition
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[Question ID = 4168][Question Description = Q47_GP_21NOV_S1_SHAAN]

AN wnN -

1 [Option ID = 16135]
2 [Option ID = 16136]
3 [Option ID = 16137]
4 [Option ID = 16138]

3) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
1ssue of how best to respond to student misbehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach is based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved ohservation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguizhed more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a vear-long observation study. During the first 3 weeks of

school several tvpes of information on each of the teachers including room-arrangement,



classroom rules, consequences oI mMlspelaviol, response 0 1nappropriate Delavioul,
consistency of teacher responses, monitoring, and reward svstems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the zchool yvear. The more effective managers established themselves

as mstructional leaders during first 3 weeks of the school year.
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According to classroom management theory on effective teacher

(1
(2)
(3)

(4)

Addresses issues in the classroom
Prevents the problem before occuring
Discusses the problem after it has occured

Tries to respond to the problem after its occurence
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[Question ID = 4169][Question Description = Q48_GP_21NOV_S1_SHAAN]

1.1
2.2
3.3

[Option ID = 16139]
[Option ID = 16140]
[Option ID = 16141]



4. 4 [Option ID = 16142]

4) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
1ssue of how best to respond to student misbehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to misbehavior after it occurs,
not before. More recent research. however. has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach is based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguished more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a vear-long observation study. During the first 3 weeks of

school several tyvpes of information on each of the teachers including room-arrangement,
classroom rules. consequences of mishehavior. response to inappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those
teachers who were categorized as more effective classroom managers were found to have
significantly higher student engagement rates and significantly lower student off task
behavior during rest of the school year. The more effective managers established themselves

as Istructional leaders during first 3 weeks of the school year.
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A teacher 1s effective manager i1f s/he

(@) Tries to respond to misconduct
(2) Tries to find the reason for misconduct
(3 Punishes the student(s) for mizconduct

(4) Prevents the misconduct
15 forer oarEt yegs st = & 3 9
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[Question ID = 4170][Question Description = Q49_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16143]
2. 2 [Option ID = 16144]
3. 3 [Option ID = 16145]
4. 4 [Option ID = 16146]

5) Read the passage carefully and answer the questions that follow

Through out much of the latter half of 20 Century. classroom discipline was focussed on the
1ssue of how best to respond to student misbehaviour. The humanist and applied behaviour
analysis approaches to classroom management shared the spotlight about equality during
this period. Both of these traditions are primarily reactive rather than preventive systems of
classroom management. That is they tend to provide solutions to mishehavior after it occurs,
not before. More recent research. however, has provided another approach to classroom
management that frames the question of classroom order and discipline not in terms of
reaction but prevention. This approach is based on classroom research that examined what
effective teachers do to prevent misconduct and what less effective teachers do to create it.
Some of this research involved observation and analysis of both experienced and
inexperienced teachers while they taught. The major conclusion of this research was that
more effective and less effective classroom managers can be distinguizshed more by what they
do to prevent mishehaviour than how they respond to misbehaviour. In a study. 27 third

grade teachers were recruited for a vear-long observation study. During the first 3 weeks of

school several types of information on each of the teachers including room-arrangement,
classroom rules, consequences of misbehavior. response to inappropriate behaviour,
consistency of teacher responses, monitoring, and reward systems was gathered. Further,
the number of students was counted who were on task and off task at 15 minute intervals to
determine the extent to which students were attending to the teacher. From this data the
teachers were classified in two groups. One consisting of more effective managers and other
consisting of less effective managers for more in depth obersvation the rest of the vear. Those

teachers who were categorized as maore effective classroom managers were found to have
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behavior during rest of the school vear. The more effective managers established themselves

as mstructional leaders during first 3 weeks of the school year.

20 df Al # IOEY ® FeAT FIEA F AEF w9 39 =@ 0w o % e gedawn w uf et
afafemn & =) @ sEfe F SW Fa TEEE A AETaErE) S e = Sveee sam § e
F FauEon W SR f3m T A g weEn muieE =9 4, R wEdR i fans gl 29 % 5w
wiatwaEE wonfemt 1 78 R 3 wonfemi geEeR i ge ufed 7H & Rel TE sfo® 30 a1 guEE
TR T AW FAl 3| welis, Seme wet o 5 e | weE Wed o o1 U a7= SunT gRan s
T 2 S Re e Wit sEnEe ®1 Uy wfatea % w9 6 T4 afow s % ww § daw e 2 3w
ITTH Fe HEH T oAE W gE 2 geieaEn W UFA sd waeE s oafiem oo R eIk
AR F TUE e P A S 2| S T R S SO kA s s i
AT AT TR % TSTRTRT R SEEIRA AR TS e wRT e SN R T 5 e R g e
a7 o1 foh TR Tl A TEeRl S e ATl we SEEhl b Sre 0E 96 R o R @ awar 2 R
4 ZEfAER  Uid Widim % 99 AR ) U & O a9 30 #d 8| UF 955 27 WA
el 1 v @9 F AT - 99T 2 991 e ) u9s 96 a9 F S uew fuam e 8 o
R I AR ST i T2 AT e -, HAl (98, TaaER % TR, S SEan o 0
e, frel * e 6 wddar, F, ot geer el mive of | e s, 1S fiee % siane
W Fe B FEAE 30 Fen | Frafawa, i £ qen i qomn it Smw 9w 0@ s s @5 e
&2 7% e 3 e F s 8 @ e T2 99 % 99 ae 6 A6 TR 9eEE S 59 o9 As
T smm w fe = 3 o o At e ) afrs el wes o et w9 F
wm |, fo et i sifaes warEt wam e o T § Avfiga fEar o wht weaman § by srfiw famed
FIdE T T AR wTR FH wem | wE fare faenedl g@ ) smarea sifow weet meus 3 wEa-at &
TUW 3 TETED ° ST A e = § e e

A teacher who focuses on feelings, psychological needs and emotions of the individual

learners i1s said to be following which tradition?

(1) Humanist Tradition (2) Applied Research Tradition

(3) Classroom Management Tradition (4) Formal Dizcipline Tradition
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[Question ID = 4171][Question Description = Q50_GP_21NOV_S1_SHAAN]
1. 1 [Option ID = 16147]
2. 2 [Option ID = 16148]
3. 3 [Option ID = 16149]
4. 4 [Option ID = 16150]






